T P S—r—
ueteflsseoailsgienm, aflpLiyrwd wrai L b.

PTA wnaifl alamssmar - 1

eigL: X BHINHD
Crmwd: 3 wevwf] wFLCluewTs6T: 100
Gy i) Smersg ellarmasens@w allowefléssa)w. 14x1=14
ii) Car(ssUu__(herer wrHn efle_sefled Wasaw gHymLw aleLmwus
Coirb0z5(h5516 G HLear allmLulmeanyw Csirsg sTipgayb.
1.  {(a, 8),(6,b)} gyeg @ sweallé sriy eefled, a wHmb b wHllyserreet (penpGu
1) (6. 8) 2) (8. 6) 3) (8.8) 4) (6, 6)
2. 7%= (bL@ 100)
1)4 2)3 3) 2 4) 1
3. eperm) wrilseafled Semwss ewerm Crflued swarursaflar AgrErullig Sraiser Seoeneblwefled,
31505mGLILIed 2 6Ter FeTEISET
1) Cr e yemeMuiled Gleu (Hid 2) em Caniged Cleul (Hib
3) eendlent 58 epevimy ClLINBHSILD 4) eeiennolwnen Cleu L g
4. Qar@ssuulL ugged /BAC = 90° wpmuws AD L BC erefleo 2
1) BD.CD = BC2 2) AB AC =BC? /i\
3) BD.CD =AD? 4) AB AC=AD’ 5 5 .
5. x=11 etenns Qar(RsslurL. CrrCarig.er swarum_rearg
1) gdiyerel eufls Clgeded 2) 0, 11) eresrp Leirefl eulé Glgeveio
3) X - siFasE Qenevwr 4) Y - oi558@ Bevevwt
6. (sina + coseca)’ + (cosa + seca)’ = k + tan’a + cot’a ereufled k-evr iy
1) 3 2) 5 3) 7 4) 9
7. @ e-meeruiler Qb iFer 2 wrSHle epernled eh LK eTafled, SiFaT QoSS LDLUILITLIL
2 2 2
1) 8n9h .39 2) %a.a 3) %5.3{ 4) 24 h’ g.
8. OQar@ssuuLLmeasefled 615 Saupmers)?
1) P(A)+P(A)=1  2)P($) O 3) 0<P(A)<1 4) P(A) > 1
9. -3,-3,-3.. ere@iLg) ai5gmaw Cgri aflms?
1) Gal (N&0sM_i7 cuflens 2) QusES Csn_ieuflens
3) Gunsewi @resmi(Ho 246060 4) anl_(S0s1iT HMIL ClLIHEEGHS0STLiT
10. x*—a® wpmib (x — 2)* Per 15.8.10.
1) (x¥’—a%) (x+a) 2) (x’-a%) (x-a)’ 3) (x-a)’( >+ax+a’)  4) (x+a)’ (x*taxta’)
11. n(A) =p, n(B) = q eresfled A wHMID B & P Cu HenL_s@w Cwrss 2 paysaflar sanrenflsams
1) 2°P 2) 24 3) 2r™ 4) oM
12. 65 wpmw 117-ufler 15.0ur.eu-eneu 65m — 117 eTern aug.alled erupgib Curg m-er Wiy
D1 2)3 3) 2 4) 43
13. spreflllelimig fenssl QubD sraj YeraflsepemLw allosstsaflar saHgeorearg).
1) eriQlumpgid Wlenss etewst 2) erGUMIPGILD GeOM 6T6uTT
3) wEswb 4) WFEWLDHD (PPSHE6T
14. gon&Garennd wHmw DnéssCanamrsamer geralBib small

1) HlCwm_esmeoL” 2) seneoL_meroGam 3) QufledGanLy 4) QgneneoCrss



&Pluy: eemaCuap 10 allamssepdE el weallss allerr sreanr 28-6@ sL_Lmuwrs

15.

16.
17.
18.

19.

20.

21.

22.

23.
24.

25

26.

27.

28.

allen_wefl&sa)b. 10x2=20

&@m wuflb 532 yholsnigser 2 eener. Ieui euflwesE 21 LEOSI KT afsw yD&S
el@mblilesny. eissemen euflengaset (Wupewd CUMIL eTeme b WOHMID TS5HME  LLHOISTL 186l
B &\HS@LD 6TEsTOYLD HTEwTS.
8ires : x* — 132 +42=0
sl A — ullewt euflena p * q wHMILD 6wl B— ulleir euflews q < 1. @ Sjewilsenemuybd ClLhHEES (piguybd
s1eed AB wpmid BA gy dlweumilest euflensenws snesis.
‘f * et 2_meuneuigy f(x) = x> — 2, etewn auenTwnssLILOSDg. @m@ x € {2, -1, 0, 3} eewis
QanewrLnev (i) £ - ullest 2_misemenLs L 1qwiediH\a (ii) f- yemg e enun@Lon?
APST ~ APQR et6wt flmyex .

P

4

2

S L 2

1

Q R

e Camyrd smrs@s Cem@Essns 2 eeng. CaryrsHer jquu@Huledmng seorulled 48 1S,
Qgnenevaileed 2_sierm (h Laemulledmibg Camyr 2 &8lulles exmms Canevwrd 30° stevlled, CamyrgSHest
2_WITS6NSHS SHN6TTS.

& CrTeuL L& anblilem ser jere) 11088 &.018.15 @ anbiiler 2 wrb 24 6l&.5 eefled, g e
SLTLD SHTETTTS.

2 2
P(A) = 3 P(B) = 5 whmid P(4U B) = — eefled. P(AN B) s snewis.

A= {m, n} wihmib B = ¢ eredled (i) A x B ompmitb ( i) A x A snewrs.

@wrefler spCuremsw euwder QHWLECHIH QETENDS Fnl lgesmed HewL_LILg, @Lreies
BreniLteniQ&EHHE (PHMSW s euflar 4 HWHSEHHGL LW eIwenSuDd
QuSEss HenL_LILGNHEGE FLLD 61660, jeulles SHELTEMSI eULINSSH SHTEvTTs.

(-4, 3) 1681 Ly6itefuent euLfl ClFedeugid — — g Fmuieuns 2 _enL_wig)wnes CnisCaHmL 1q.6v1 FL6TLNL_enL_&
SIETT5. 3

20 greyt yeteflsst Qar@ssiulL eleursdear HLalewssnd 6 @b, @aieaunm sreL
yerefyd 3 60 Cu@mssLIULL T SenL_&@w sreyl Lstsiseiar S Lallevssnd wHnib allevss
UTHHE FTTEF] HT6TTTS.

& Hnieuend 25 Cgmasemed Clgysemner B Sl L 0L L gI. (p5ed Cgmailed 1 GlFiqu|b, @rewr_reug
Qgmeiled 3 CFquw, epeaimreug Cgmalsd 9 ClFujd B (e CFwwiulL g. BeaiGaened
BlenmeuenL_ww s1&Semes GlFiq a6 Coemeu?

1+2+3+ ... +n=0666 efled, n-ullesr LI SrevETs.

GPluy: emaCuap 10 afllamssepdE allmweallss. allarr srewr 42-8@ sLLmuwrs

29.

30.

aflLwefl&sayb. 10x5=50

t o181 Eniuneng OlaevSwedler (C) 2 6en Gleuliumlenevenwuibd, umyeaf iged (F) 2 erer GleuuiLs
Blemevenwiw|d enewsta@Lo enjun@L. Gueib g t(C) = F ere cuenmumisasiuL_L_med

(@i F = % C +32) () t (0) (i) t (28) (iii) t (~10) (iv) t(c) = 212 =y BmeEb Gung) C-6ir I
(v) Qged&lwerd i unyesrai L LW Fowre meEw Cunpg Seuliublene g HweanHenns
SHEsTL_5.

CGrameilw 10 Gl&.5, 11 Q&.S, 12 Q&.6, ... 24 Q&8 e1ehim LGS eTeyeTer 15 FHIT eugeu
CUETTTENVTS SHNSH|BEIG6T 2_6iT6rT6nT. Q)b CLETTTERTS H1FGEIH6TS OlsT6wT(H) sTeLaETEY LITLIEHL 60L&
SVEISSHS (Liguyd?



wrf ellsmssreiessT

51 oa-{! 1) B ( ! 2] Cc= (_7 6) s168l6d A(B + C) = AB + AC eresiLiensé sHLIMé
k—l 3J , _4 2 3 9 S&F FlLNT&s.
32. Asraren Canmsens siwd Bimieys (Pythagoras Theorem).

33. 6015 2 winsiten sevmisenT ellendas e 2 &Slulled b (heuT HL_e0WwL L _SlevieTar @) sLLeosenerT
(weomGw 28° wmHmiw 45° @massGanentgdled LMTSADTT. @ SL1LIO LHEIMTIH SLILIEYIS@ELI LeTesmed
01 Hewaulled sevmisemny alossssL e CrTGCaTiqed 2 6Teng cafle, Brewi( SHLILICOSEHSHELWD
BewL_Cuuweten Clgnemevemeus sesers. (tan 28° = 0.5317)

34. 2wy 10 Q&5 wHmb el L b 4.5 Q&5 2 enLw e CriauL L 2 (Henerenw 2 Hheunss 1.5 Q&5
L (b 2 D15 HiqL068T QBTERTL 6T5S6m68 UL L elledenevaet Caemneu?

35. eu@uys Csielled wrewreuiser Qunm wHuClLewsaT £Cp CardssluL_(Dereres. jeuiseiesr
wHICLeTERINEGS S elevssd Hnewis.

X -4 6 8 10 12

f 7 3 5 9 5

36. Aetetiug) 8 g el& @ewmeunes @uwied stestaeest sewid, B steviLg) 8 gy ell_& @enmeurnest LT
sTevvTa6en sewurid wHMID C eTeirLgy BT enL_LiLienL LST 6T6wTa6M6uT HevwTid 6Tesled
A x (B-C)=(A x B)— (A x C) erev1& &fluniés.

37. Sp=(x+y)+ (P Hxy +y) + (F + Py +xy’ +¥) + .02 miiyser eefled

C2("-D) e -
( Y) Sn_ 1 - y_l .

x—
38 res: —naw — L L L1 14,2
2x 4y 3z 4 x 3y x 5y x 15
39. e 2 (Hewmenrullest 15 7 DewL_SHeNTL LD QenewThGUTN) MBS 6(H Ljeuedlsst Clngs 2 wiyb 20
Q&.5, 2_menerullesr 2 wird 12 Glg.15, eflLb 12 Q&5 gy @w. PenL_ssenwr_gHer CuHym el Lb
24 Qlg.15 e16xlle0, Levtedlest GleusfiymL LITLienLIS SevT&S (DS

40. 50 wresseuiaet 2_6ienm e eu@Lilled, 28 Guiy NCC-goid, 28 Guit NSS-goiib wmmyd 10 Guiy NCC
woHnid NSS -eud Cerdmniser. e wrewreuy Fweumiliu (weopulled CsikbolsHGsILOEDTT.
Sieuir (1) NCC -ufled @mba1, peomme NSS-60 @evevmoev (ii) NSS -ulled @pia1, peomed NCC - ufled
Beveomoev (iii) eestGM spevTled L (DI CaIhg BHULSHSTET HSLHSH6HED6NE HT6TTTIs.

41. @m Y&Caremsdear GlILsEsD UHH GHSHWISmS el 4 0.5 yfaw. W&Canemwizdle
urliyeney 48 gy 01&.15 eTeflled S0 g LILIGSLD WOHNID GSSIWLTSHE S6T6SHEDENTS HTETTS.

42. m w&Gatemsdler ruy 5 #gir e0@sar. (2, 1) wHmb (3, -2) s Q@ (Yewerts LeTefser,
y =x+ 3 1651 Crry&CanL_i1q.631 5G] pETTDTeUS) (LPEHESTLILIOTEN SIEDDHBSTED DHHEDEVIS HICTTTS.

GOl Smersg allearrasepigw alleweaflssab. 2x8=16

43. 9)) y=x+x—2 -6%1 euenTLIL_LD CUEHTTHG] | SETT PLPEVLD X +x—2 =0 61651 FLOSTUNL g 06018 STEHSOLD.
(Sie00051)
) Xy =24, x, y > 0 616310 ueOTLIL_S60G 6UMTSH. euenTLLSensL1 LeTL(BHISS),
(i) x = 3 e16¥l60 y & snewwras wHMID (ii) ¥ = 6 6T6vlled X~ SHTEwTS.
4. ) QarpssuuLL W&Ganewid ABC - Wl @55 Lssmseie Gﬂéﬁg,m — 67601 EHLOW|LONM) 6(TH
el Oleunss (W&Canewid cuenrs. (66 snyessl —)
(Si1600051)
) SligLinssnd BC = 8 Qla.15, A= 60°whmib ZA ullest @mewbleuiquineng BC g D steiin Lsitefilulled
BD = 6 Gl&.1§ eiesimeunny shHadng stefled (p&Ganewid ABC eusnis.

* % %



ueteflssevallsgienn, allipLyrd wreLLb.

PTA ionaifl allamissmar - 2

eigL: X BN D
Crmwd: 3 wevwf] = wFLCluewTs6T: 100
Gy i) Smersg ellarmasens@w allowefléssa)w. 14x1=14

ii) Car(ssUu__(herer wrHn efle_sefled Wasaw gHymLw aleLmwus
Coirb0z5(h5516 G HLear allmLulmeanyw Csirsg sTipgayb.

1. f:A - Beerugl em @muné sriy womw n(B) = 7 aefled, n(A) gyerg)

1)1 2) 49 3) 14 4) 7
2. A={1,2,3,4,5} fl®mB3I, B et sewrs gl 1024 2_meyser 2_sirerg) eresfled B - 60 2_aiter 2_m) iy sefler
cTewTensl16 60 8.
1) 2 2) 3 3) 4 4) 8
3 %&ﬂéui 1 eresrp Qgrjauflesuilar 9H'$5 2-mi
2 1 1 1
D= ?) 2 3 77 D 81
4. *+64 ™ (PP UTSSHIOTS IHD ISV TGS Fal_L Caient(Hid?
1) 4x? 2) 8x? 3) —8x? 4) 16x°
3
5. % st eflflswn Caremanilar aflvssliurL wiy
1) 8 2) 2 3) 4 4) 1
6. em Crflu usdmiiLs Carenauilar auemruLLd @
1) ureuemeTwid 2) giFureusmemuid 3) eulL b 4) CriCan®
7. emaLLgdlar yruw CsrGCasr(hib Cek@ssTs mwun PL1b
1) epwowid 2) Qznyeief 3) wigeiled 4) muewwt
8. (-5,0),(0,-5) wpmid (5, 0) &lw Yeraflserred SemwssiLBL W&Caremglear LTy
1) 0 &. 60@S6T 2) 5 5. 3160@s6 3) 25 &.9160@s6T 4) e1g)6Lbledemev
9. 3x—-y=4wpm x+y =8 yflw CrrlarBaer sugs@w Yerefl
1) (3.5) 2) (2,4) 3) (5.3) 4) 4,4)
10. 5x=secO wmHmyd f = tan® eresfled, x* —% L Ty (W
1)1 2)5 3) 25 4) 21—5
1 sin(90 - 0)sin® . cos(90 - 0)cos O _
] tano coto
1) tand 2) 1 3) -1 4) sin®

12. QoL ssamiLms @@ UGSUTss Carewr @m sawuller 2wrd womw Hwrd weenpGu h
S|VGS6T HMID I' JVGSHT JYGb. DenLssenT_ler 2 wmd wHmw Hflu LES Tb (WPennGw
h, QeGs6T WHMID I', OGS HMIL h, : h) =1 : 2 eresfled, 1, : 1} & LI

1)1:2 2)2:1 3) 1:3 4)3:1
13. pz6d LGz usr eewrsafler alFs:

1) 9 2) 20 3) 27 4) 5
14. @z 'n' Qued sremraefler srmal

1)@ 2)% 3) "ZLI 4) n






]

31.

32

33.

34.

35.

36.

37.

38. A=
39.

40.

41

42.

fx)=x-4, g(x)=x> h(x)=3x—5 e1efled (fo g) oh= fo (goh) erem18 s1_[H5.

(i) 67 +x=1 (L@ 4) eTBLSNHE CLNHHESEHERIGW GHODHSLL & lens B& SHN6wTs.

(i) &iée: 5x =4 (L@ 6)

@ Cgmaileerer eS(HaEHHE 1 (P60 49 euenr CBT_Té8wnss szeailevssnd euprisLLL (HeTeg).
Qendledlest i i9m@ (evenisns 2 eien ei(Hsefler ssaleossmsame gnl (NS6STENsWTEsIS
Oenbdledle efL1un@u Uenengns 2 eten ei(haeler sgalevssmsaia g (Dg CFTmaes@F Fob
16860 ClgmHledlen e (D& s56l606556mS55 SIS,

(H HIEHIWLD PPN (oo sewr_LLBSng. Fflwns Qrewi(D HMEVS6T 60608 GHEHDHSLIL FLD
(5 L 3160608 305505 Drewi(h SemevsaT SlenL_LILGHSTES HHLDSHHMEUS SIS,

@Qrewih marmseT A wHmid B-uller @shlianegHed Blevayw OGeuliublened emeyaset SC
Qan(h&sLiLL_(Derereut.

BT A— 6 Ceuliuleney (148N QaedSlwen) 18120 22|24 26
Ba7LD B— 651 Qleuliublened (1985 Qaed&werd) 1111411517 ] 18
6165 Hawreg Cleuliufleney wIMILITHS6TE iflswres Hleneos Sevtenio ClanewTg)?

A={xr e W/x<2},B={x e N/1<x<4} wpmb C = {3, 5} eretled

Ax (B u C)=(AxB) u (AxC) aetiuengF sfluniés.

SSSN, ShHens, eurew’ gy epeufleT syraf euwgl 53 @Ww. FresnaleT euwed Lnd, sbengulles
euwFed epeiTled 6k LIEIE) HmL eunesiuflest euwidled mrestdlev eph LIkIE yFweumiles sn(Higed 65
SLSWD. HIEIE eRT(DSHEHSHE (P61 HTSHede euwig) eurenflulles euwengs CLTed HIeHIE) WL_EIE
sT6dlev peullest HSHCLITHSW UILIEHSE HTETTTs.

cos® 0 sin 0 < A2 5 . .
ol B=1 o steuled A+ B° =1 e16016 & L_(h&.

0 cos sin 0

@ aul L Canemriu@d eugeailed 2_ater 2 Geonas ssL 19601 b 21 Q.15 wHmw ewwsECanemid
216 gy Ew. euLL CanemiLGdulleT oy rmisemer Qenemidg 2 (HeunssLILBILD FnbLI6 S6uT emeneus
STETVTS.

@7 @neE ubdler CunHUm amwblilar enL_ssewT augeaillen SPLLMD enrsGaTer aulgailedd
2 _eiteng). QevL_saeniL_sle el L_mger 5 Gg.5 wHmb 2 CF.5 gsabd, @nEGubdHer Clwrss
2wy 7 Q&5 g seyb Bma@Lwreme @m@u ubSler UDLUILTLIeNLIS STewTs.

Blemeownest Biled 18 &.5/wenfl Couszdled Ceedenin oFf Quibdrl uLsreg 24 .5 srsms
Bher Hensulled asLs@L Crrsms el Biler adiflensulled sLss ambzeons 1 wewl Cryb
Caemeuiu(&mg e1eded 15hlest CousLd snewsra.

om Sndlller 2 wmb 1.2 € gy@w. 88.2 IS 2 wrsdled HewLwl L wns SrHNed BEHHLD
LITEnET eus oo uled Hleitmeunm LnF&Smer. e Lstafulled Lisrefss stmmaGanesid 60°. A
Crrsdled LHGODH LeeMulled Leyrees ahm&Ganesmid 30° gy&é @Geondngl. Qis SenL_Geusiuled

LIGOITETT SL_6S SHNTSHEDSHE SHN6TT18.

Gluy: mearsz allamsseps@w alemweflssawb. 2x8=16

43.

44.

Sy =x> — 5x — 6 Wedr euedTULLD UMTHGI, iFeneuill Lwe(HSS) ¥ -5 -14=0 6T63T)
FOETUML_6WL_S &i1SHHa|LD. (21606081)

Sy = x* +4x + 3 & euewLILLO QUENTHS| SISV LILETLI(HSS) ¥ +x+ 1 =0 eTe01D FLOSTLIML Lg.687
STem6us H1ewis

31) 5 Q.S yreren aul L sdlesT enwwsHedlmng 10 G5 Cgreneveailgerer LieTsilulledmnba
oL L 55n@&s 0sthCarast cusnrueayb. Gueb sTHCsT g6 emmisemens sestad([Hls.

(Sieve081)

<) Bim&rd ABCD ulled AB = AD wpmyd £ CAD ullesr Canewr @ mewbleugaet BC wpmin CD
S ussmsemer (WeomGw E whmib F eresim yetelaeied endladlesimen steded, EF || BD eteu
Boieys.



o el gneist
ueteflssevallsgienn, allipLyrd wreLLb.

PTA wonai allarnssmar - 3

eigL: X BN D
Crmwd: 3 wevwf] = wFLCluewTs6T: 100
Gy i) Smersg ellarmasens@w allowefléssa)w. 14x1=14

ii) Car(ssUu__(herer wrHn efle_sefled Wasaw gHymLw aleLmwus
Coirb0z5(h5516 G HLear allmLulmeanyw Csirsg sTipgayb.

L. A={a,b,p}, B={2,3},C={p, q, 1,5}, ereafled, n[(AU C) x B] syergy

1) 8 2) 12 3) 16 4) 20
2.  f(x)=(-1)" srawrug N — eflmpgl Z — 6@ eusnpumissuu_(hererg), o1 led [ & elFsswd
1) {1} 2) N 3) {1,-1} 4) 7
3. (323 +3%+ . +15%) -1 +2+3+......... + 15) —uflevr gy
1) 14400 2) 14200 3) 14280 4) 14520
4. 2+4+6+.... + 2Kk = 90 ererfled k —evr 1o Ziy
1)8 2)9 3) 10 4) 11

5. 8y=4x+21, ererp Cri&CaM_Igar FwaTUN _IGNEGS Spsear_aniled 65| 2 ewTenio?
1) smiiey 0.5 wHmih y-Oeu g6 1.6
2) smiey 0.5 wHMD y-Cleu HiSgewnT(H 2.6
3) #miey 5 wHMIL y-Cleu HiSgeTH 2.6
4) smiey 5 wHnib y-Cleu_HSgiewi® 1.6
6.  6x%y, 9x%yz, 12xy’z g flweupmilest 15.Qlum.10

1) 36xy*z? 2) 36x%y’z 3) 36x%y*Z? 4) 3x%y
7. AABC- 6b, DE || BC, AB = 3.6 Q&.15, AC = 2.4 Qg.15 wHmw AD = 2.1 Qg.8 eresfled, AE - ullesr Bemid
1) 105 Q&.18 2) 1.2 Qe 3) 1.4 Qa8 4) 1.8 Q&8
8. (12, 3), (4, a) etewrp Yereflaener Qemewra@w Cariqear Fruia) %ﬂwﬂa’) a —uflet gy
1)1 2) 2 3) 4 4) -5
9. (2,1) @ Qe yerefhurss CQarewi. Qm CriCar(Hsar
1) x+3y-3=0 x—y—7=0 2) 3x+y=3:x+y=7
3) x+ty=3:3x+y=7 4) x—-y-3=0;3x-y-7=0
10. tan® cosec’® — tan® — e Wy
1) cot6 2) cot’0 3) sinb 4) sec6
11. eiF Ser&Garargdlar QLrssl UTUY ST YTSSlImLIL aT&EsSIler IOL_MEIST(GLD.
1) 4n 2) 3n 3) 2n 4Hn
12. 367 Q.8 * sear eney QarewiL @m CamarsSer gy
1) 3 Q&8 2) 2 Q&8 3) 5 Q&8 4) 10 Q& 18
13. 8,8,8,8,8,...... 8 gdlu greailer afss
)8 2)3 3) 1 4) 0

14. gymdle erpsgisafiedlmhgl efF erpss swamily wapullsd Csrey QeuuiuGidingl. bS e(S3
X—6© PhHagw a(Ssisafled earmrs QuULgDaTaT BEYssa.

12 1 23 3
D3 2) ;3 3) 2% 4 2%



&Pluy: eemaCuap 10 allamssepdE el weallss allerr sreanr 28-6@ sL_Lmuwrs

15.

16.
17.
18.

19.

20.

21.

22.

23.

24.

25.

26.

27

28.

allen_wefl&sa)b. 10x2=20

f: N — N etevim enjunengy f(x) =3x + 2, x € N ete0 susmpumisasiinO&ng etetled, 29 wHmid 53-es
(LPETT 2_(IH&SHEM6NTES SHTETVTS.
7 x5 %3 x2 %3 6160118 6(1F LI 61601600 ? 268518 elewL_enw BlwumuuuG\Sgis.
3+k, 18—k, Sk+ 1 etevieneu (h dal_ (DS Gsm_ieuflengulled 2_efenen seied, k—ullest odiys snesis.
B+22+33+ K = 16900, e1efled 1 +2+3 + ....... +k — &1 wéuy snewis.
(7 8 6) (4 11 =3)
A=L1 39 |.B=|-1 2 4| gefled, 2A + B— mé snewts.
-4 3 -1 7 5 0

QuUIGweRTsmeT peomisTSS Qsnewi 3x° + kx + 81 =0 6T 810 ~ 19.69T @ eypevid HEOMI(H
eSS Hent euisaLd eTeriley, k— ullest LS SrewwTs.

_ a+3a-4 . . _ a*+2a-8
XT3z eboy= o

» 2 20— s16dMed x° y 2 — &1 LI SnewwTs.

QanssuL(Herer LLgGHled AD ereviugy £ BAC —ei1 @hew Gleuiquin@w. AB = 10 Glg.15,

AC = 14 Q&.8, wpmib BC = 6 Gl&.5 e1edled BD wipmid DC — s snewis.

gmie 1-26 Carewi CrisCan _qer #mniies Canewid sTeien?

20 1§ 2 wipesiten sL_1q1L_Sdlesr 2 &8ullev e ellememun_(H) eury wihg Clerewi(H Senyulled 2 emer
uBeng 60° @n&asGanensled srewtdnny siafled sL 1L iqLiLIEGHsE@Ww ubHHELW BenL_Cuiwjerer
Qsnenevencus snewia (3 = 1.732)

sefwewt Ola v ClewwiuL L 24 Q&5 2 wrpersT b Falbenul 6 GLHens HCH JyT(psiTen
@ 2 (Hewemuns IHMISNG eTedled 2 HeneTullest 2wy eTevTes?

@ sweauniliLé Cangemeanuiled em Hawpss A seie. @mi@ P(A) : P(A) =17 : 15 wpmibd n(S) = 640
s168M60 P(A )-2p6 snewis.

& yeehl elleurmisaier synafluneng 25.6 wHmb s et wrmuT_ (K& Glaupeunsng 18.75 erefiled,
25601 SIL_L_Nlev&85658 HT6wTs.

3x - 5y + 7 =0 wpmyd 15x + 9y + 4 = 0 yHw CrisCarser panstaneam CFt@sg e

Bpieys.

&Pluy: eremaiCuead 10 afllemssepd@ allmweallés. allerr srewr 42-8@ sLLmuwrs

29

30.

31.

aflemLwefl&sayb. 10x5=50

A={1,2.3,4} wpmiw B= {2, 5, 8, 11, 14} erestiewr @@ SHewTEIS6T 6Tev1s. [ : A — B eteyyd g f(x)
= 3x — 1 e16018 Qan(RsasLLL(Deteng). QFeniienes (i) SbLSEGMN LD (ii) L L eueneset

(iii) euflenas Gemgaefes sewrid (V) euenruLLo g Hweunmred GNl&s.

yelluTriiy elensulles snyeswions t eflesmigsamed eh CILINHET SL_&@EHLW SMTLOTESS)

S(t) = % g’ + at + b e1ws Qan@ssLLL[DeTeng). @m@E a, b SpSFlweneu wmdledlseT (g g
yelluTriiy elensulles srrewtons HUBILD (WHSHD) S(t) JL6v1EI 663TMISHO\STESTMTEST FMTLIMELON 6T60T
LTI,

A={xeW/0<x<5},B={x e W/0<x<2} wmmb C= {x € W/x <3} ererflled
Ax (B NC)= (AxB)N(AxC) etesiuenss shuniés.



32.
33.
34.

35.

36.

37.

38.

39.

40.

41.

42.

3

3+6+12+ ... + 1536 e1681m) QLIHEEHS CHT_Fl6vT Fn (NSO HTETTTS.
9 2160 uUGUOILD jENETSF| pPETTDIEVSS Buiev cTeTsTa6NETT Fn (DSED HTETTTS.
289x* — 612x° + 970x% — 684x + 361 -ullewr UNTSHSEPEOLD SHTETTTS.

S5x+7
uTSsL LTSS (wenmulled x—l = 3x + 2 61631 FLOSTLINL L6381 & 76 HTEWTS.
x —

529 L7

A= (1 2 8) wHonpwB={1 2| eefed (AB)T = BTAT sTevTLIENS &FlLNT&Hasa,Lb.
5 -1

@, CemCanewT (p&Canews e siewrid Al LsssSer @ wL_miens el 6 1511 s, GCoeyb
PPSTIDTEUG LISSHLONENS SHTenisemng el 2 IS LT @embey erefled (p&Canemsdle LssmisHames
STETTTS.
Tx — 3y = -2 womb 2y = x + 3 i fw CriCanaer sha@wb ysteflenwuybd 3x +y + 2 = 0 wHmyd
x—2y—4=0 g 8w CriGar(haer #hdlé@Lb Letallenwuibd Senersta @ CrisGCan .6 FweaTLn_enL_&
SIETVTS.

3
V3 sind — cosd = 0 erefMled tan30 = 3tan6—tan” 6

1-3tan’ @
Hogrenens Oarewih 7 15 repwd 24 1§ 2 wpephd 2 6MLW @@ &aldl 6UGel Fal MILD
2 heunsasLuBEng. Oseaious augeu SHsgnefler imeob 415 cTadlled ST 6D SHnesTs.
52 &L (a6 QanewL &L (N&sL 1q.60[HhE) 6 &L 1(hssLLOSamg). obs FL_0 @rren 2160608
anriL e0evg Seulil) Binég &L L_1s @\(BLLSDESTE HSpeHenald SIews.
18, 20, 15, 12, 25 gyflweumilest wrmyun’ (D& Qa(peneus sresis.

GOl Smersg allerrssepsn allenweaflssab. 2x8=16

43.

&) Y = ¥ — 4x + 3 WetT euenTUIL LD euenTIEE SIS epevld x0 — 6x + 9 = 0 eI FLOGTLIML DL
Siésayb.
(Si1ede051)
@p) Y=+ 3x + 2 ull6tT euenTLIL LD euDTTHS SiSeeL LeTLBGS x° + 2x + 1 = 0 61681 SLoesILN 60L&
Sissayb.

4. =) qLiussnd BC =56 6g.S, £A=40° wpmid £ A -ullesr @mawnbleiiqunesg) jigliugssid

BC -g5 CD =4 Qlg.15 61601 D -ulled & 8lé@wmm Sjenwubd (p&Canemtio ABC eusnrs.
(Si606081)
3) QarssiuL L (w&Ganewtd PQR-&@ 55 Lssmsamar alldlsib % 6T63T S{EMLOWJLOMM)] 62(TF
Qg Cleungs (p&Canemd euenrs. (Sjeney smesdl 5 < 1)

. 0.8



ueteflssevallsgienn, allipLyrd wreLLb.

PTA ionalifl allamssmar - 4

eigL: X BHINHD
Crmwd: 3 wevwf] wFi6ueswTS6T: 100
Gy i) Smersg ellarmasens@w allowefléssa)w. 14x1=14
ii) Car(ssUu__(herer wrHn efle_sefled Wasaw gHymLw aleLmwus
Coirb0z5(h5516 G HLear allmLulmeanyw Csirsg sTipgayb.
1. R={(xx)|x geng 13 - g all& Gmpamer Lsr sewrsat} e 2-pafler alsssworarg)
1) {4,9,25,49, 121} 2) {1,4,9,25,49, 121} 3) {2,3,5.7} 4) {2.3,5,7. 11}
2. A={1,2,3,4},B={4,8,9, 10}, ereis. smiy f : A — B gyewg) = {(1, 4), (2, 8), (3, 9), (4, 10)} sremss
Qar@&suLLTed f eraTug).
1) 2 " &y 2) ueveuHMESHHSI ERETTMISHSHTENT FiTLy
3) sweflé sy 4) eenIs6\sNeTDIeT FiL
3. om s (s Osrijauflmsuller 6-eug emuiler 6 wLEEW, 7-ag 2mufler 7 LLEED Fow
aesflev, G (HS0BT_Fauflmsuiler 13-aug 2 miiy
1) 0 2) 6 3) 7 4) 13
4. 1729-g usrs srrenfiluuBiSgiw Curg SBsU usT aarsaflar 9 HEGsaflar snHHed
1) 4 2)3 3) 2 4) 1
5. awomb b eeruer Qm lens wusser. PEE a > 0. b aarug a-ar @@ srrewfl srefle a wHMWD b
S Flweunfier 15 Clum.eu
1) b 2)a 3) 3ab 4 5
6. x*—2x—24 wHmd x* — kx — 6 -ullesr 15.Q0um.eu. (x — 6) ereufled, k-uflevr iy
1) 8 2) 6 3) 5 4) 3
7. @ usdIMILLS Caremaiurerg (ppauTss eeafle siger sryenflaer eTevuTevaflen sulled
SLCumb.
1) enenppLLIenL 2) w&Swbd
3) @rlenLLiuenL 4) Gunaadlweundled erga)b Bevemnev
8. Qmwswuss &Garewms AABC- ulled £ C =90° wpmb AC =5 Qz.15, srafled AB gyerg)
1) 52 Q.8 2) 10 Q&8 3) 2.5 Q&8 4) 5Qs.8
9. @ BrHSTLIETS QW Fflauswrs Jymvws Camaiwrer Blubg et
1) @@ ussnser @enewt wHMID B LSSHEISHT FenemwTLnHnene
2) B ussmset Qenevet
3) eaHQrdlir ussmiseT Qenevst
4) SMASFIL LISSHEISEHLD FLOLD
10. 7x -3y +4 =0 erewirp CryCarign@s Oem@szraaw, HFluyerell aifls Ceedn CrrsGsarig.er
gwerum(p
1) 7x-3y+4=0 2) 3x-Ty+4=0 3) 7x-3y=0 4) 3 +7y=0
11. sin® = cosO ereufled 2tan’0 + sin® — 1 evr w1y

3 -3 2 -2
1) = 2) — 3) = 4 —
)3 ) 3 )3 ) 3



12

13.

14.

wrf ellsmssreiessT

7 2 etefpm 2 memeruller Cleausaflliym wHmb 2L up gyrrseflar saBged 14 Cla.S5 LHMIWL iFeT
Swer 4 Q.S g@w. e meeruiler 2wy 20 Ge.lS eafled, gmer 2 (Harssl LweTLLL

Qurmefler sergieTay

1) 56m &.60l5..8 2) 36007 & Q& S 3) 56007 &.0&..8 4) 1120n & Q& 1S
QarhissiuLLmeasetled a5 Sauprers?

D) pa)+P(A)=1 2) P(¢)=0

3) 0<P(A)< 4) P(A)>1

Q(H BIeRTWSmS eearm (weom sewr(hid Cergamearuiled 3 gamevaer jedevgl 3 LysaeT SlenL&s
Blapgseay.

1 1 3 1
D 2 3) 3 4)

2

GPluy: eemaCuap 10 aflamssepdE allmweallss. allarr srenr 28-8@ sLLmwuwrs

15.
16.

17

18.

19.

20.

21.
22.

23.

24.

25.

26.
27.

28.

aflemLwefl&sayb. 10x2=20

fof(k)=>5 whmub f (k) =2k — 1 ererfled, k -uller wdlliennis snewrs.

A={1,2,3, ... 100} wmmbd R etesim 2 mey "A— 681 158 61 6TeuTTERTIEH SHEVILD” 6T6VT UEHTUIMISHSHLI
UL L_ed, R— sanest wHlULssansu|b eIFs556nSWLD SHT6wTs.

@M Seorurmdler wsed euflmsuled 20 Qmsmasepw CLissw 30 euflmaseEnnd 2 6.
2055055 eeibeunm euflmsulln HsNE Whmsw euflmssmw el @rewi QmoHenaass
. (DB6VNs 2_6itenevt. S-S euflemauiled s155 6068 B)(HHenaSH6T B (HSHELWD?

1 1
Z,—E,l -2,... e1681p ClLBEG:S CSMLiT euflewaullest 10 eug) 2 miLiewLIs STesis
x> +6x+8

3
P18 Vmbsl b3 eldlspn Canmeimus sfissned 2, "y aa Careneu SemL_&@Lb?

3
ppevmseesT Fn(ged wHnIW ClLmEseOLIeET (WennGw o wooib 1 eteud Qarewi QL&
FLOGUTLIML_6BL_& SHT6TTS.
NEs18aT60 CannESemNs 61(LpS15. R
Qanssiur L LL_gHled DE || AC whmib DC || AP erefiled EC_cp Bimieys.
P(-1.5,3).Q (6, —2) woHmid R(-3, 4) g yerefiaer Cr CriGaniqed Siemwujb eresé s (His.
cotA—cosd  cosed-1
cotA+cosAd cosecA+1

et6vt HlerpLilG 8.

&0 yrmseT Carewi @ snbLseie s emayser 3600 Q&.5° wHmb 5040 Gl&.15° eeried
Seunnlest 2 wirmisefes ellflgd srewrs.

@ srelle ef&a 13.67 wHmibd el Quflw wduy 70 08 srefled Was ABlw wHiemus snemrs.

@ eouwleeter 1 (pHed 6 euemy elewideT GNSGSLLL L LBHSMBHE Srewi( ubgiseT
sLLgHaTe smmiGeusienw wr euenHruL L epeowns GOILINGS. (Sewi(Hib SHHbu MeudELD
(CL))

8x% — 25 = 0 e16vTD B(HLIQEFLRTUNL g &T pLPEVEISEMETT S (HS60 LOHMILD QLIHSESHLICIEST HT6TTTS.



&Pluy: eemaiCueap 10 afllamssepdE allmweallss allerr srewr 42-8@ sLLmuwrs

29.

30.

31.
32.

33.

34.

35.
36.

37.

38.

allen_wefl&sa)b. 10x5=50

SIHHD 2 66 L L euenemtulled CluewTsalesT (pelTenEIENSSHTSST Hemd WLMHMID  SEWIL68T
Qe w2 wym 66 Sseueds6r cupmasLILIL (DeTeme. g elleurmiseies g LiLienL_ulled 6(h
wrewsteu 2_wird (b) (pevenmiens HeTd (x)-&&nest 2_meneu sTens HewT(HLlgS5ST. BEIE pSwueneu

wrdledasir.

(peviesTmIemSBSHeNes e X (O&.15-60) 2 Wb Y (mi@6058160)
35 56
45 65
50 69.5
55 74

) @hs 2 Deunesig) STiLITEGLON 6T68 S TMIs.

i) awHmb b yHweunHenns srevwrs.

iil) (evenmenauiles Kot 40 Cl&.u5 etetled, ybsL1 ClLewTenTler 2 WrSemss Snews.

iv) 2 wmb 53.3 gmEi@evwd 616860, SihGLI ClLiewTeniles (Weenmensules LaTSanss STewTs.

f:[-5. 9] — R etetip enijunesgy Llesreuhonm) euenrnssLLBOEDS
6x+1 -5<x<2

fx)=15x -1 2<x<6 e60 euemTUMIGSILOEDG 6168160, LN6TT6U(IHEUSTEUNEODE SHTETTTS.
3x-4 6<x<9

. 3 . 2f(=2)- f(6)

—3) + _ + A Sl NS
(1) f(-3)+f(2) (@) f(7)—1f(1) (1) 2f(4) + f(8) (iv) @72
5+555+..... stev1n CETL_Feuflemaullest (psed 2 MiLILG6T6NT dn(DS60 HrewsTs.
owm Ouewienfilar euwg oeurg Carsiuiler eauwens Gured QEWLLEE EGWL. RHS
T hsEpsGLLSET @@ euwgiseier Clumasnuesst 375 erefled, sCansflasier sHCUTEmMSW
QUWIEDSS SHNETTTS.

2x 2 8 5x X*+8 24

Xt 3 4 +2 4 4y =2 10 6x) STOUID SiEWFFLSTLMN Iq68 x-61 LhFSwLOD wHiemus
SNETTTS.
4 — 1227 + 37x% + bx + 2 IRTLG @M (WP UTESL LONINILILEG Canene ereed a LHMLD b -ullesr
Sl SHTevwTs

wrbm) L g6 Capnsms s Binieys.
Tx + 3y =10, 5x — 4y = 1 4w CrirsaCanaer shdlé@b Lstel euflunseayn, 13x + 5y + 12 = 0 eresm
CrrCan_iyn@ Qenewnu sy eowwb CriCan i FweaTun L& srewrs.

M Cemeled m s LL (b @ SAomeowb aHordis Semsulled 35 15 BenL Gleushluled
Slemwibglerener. s L L gler 2 #8uledpmg Henev 2 &8ullesr arHm&Canewid 24° wHmID Heweo
Sliquilest @m&as Canevd 34° sretlev Hemeoullest 2 wipLh 1616w ?

32 Q&.15 2wy 18 Q&5 YIpb 2 LW @F 2 (HeneT auigel eunelulled (LP(LPENLOWITES LOETTTE)
2 6itengl. @G WwewTev Henrulled Clam L ULl (B FalbL] eugalled wESLILOEDS. bHSS FnldLNes
2 Wb 24 01&.15 616xlled. ST YT, FNYTSENSS HTEWTS.



39.

40.

41.

42.

wrf ellsmssreiessT

@M GbOwusHed GOULILL eunrsdled 2 L Clanstemiiul L Clamiwn wHmID yTEha: LILpEIS6Tes
sTevvTeniGensa6T G CanssLILIL (DeTeresr.

Qamiw’ upmiseiler stewesiisens |3 |5 |6 |4 |3 |5 |4

24 T(Eh LIPEIS6T6NT cTeutTentTaena 1L3|719]2]6]2
BriE), bz LD Frns sHSgs0lsTaTaT ILL L ) ?

50 wrewteuiseT 2_eiem e eu@LiLiled, 28 Guir NCC-ullgib, 30 Guiy NSS - e wpmid 18 Guiy NCC
wHmbd NSS -eib Cardlmniser. e wrewreul FweuniiliL (Wennulled CaikbolsH\ssLILOEIDNT. e
(i) NCC- ulled @51, 2peomed NSS — 6 @edeomned (ii) NSS- 6 @wiis1, opemmed NCC— 60 @eveomned
(iii) epes1IGM epevTiled WL (Db CaInHE BHLILSNHSTET BlBLHSH6HED6NE HT6wTs.

gmielenenl Lweu@®SSH (1, —4). (2, -3) womibd (4. —7) Sl yeehlaer e ClFmiGasnemst
(W&CanemTSSenes 2_(Heund@EL 6168 HiN16s.

em Buy 10 emiseied 16,500 g Cellaflpny. eeibleunm et eui Callée@w
Ogrenawneg ASHE (Whemsw e CallsEw Cgramaamueail I 100 b eefled, ojeui
W30 ewT(H eTeneueTey CadlsSmLuLmy?

Gy Smarsg allmssens@w el weflssa)w. 2x8=16

43.

44.

S) Y =% — 4x + 3 -ed1 eueDTUL LD U SSTEPOVD x° — 6x + 9 = 0 T8I FLOGTLIML DL
Sirésayb.

(Si1606051)

3) @@ Bnieuesoneng CgT_sas5860 40 Coueneowneiaener 150 mreiseiled e@m Couemevenis
Wi&s Qgm_msug KInE, Cousmevenw elenreuns (PusH_ Neeumwnn Coueneowneraener
S1FeN553!.

Geusmeowneiraefest sTeutTentNsensas (x) 40 50 60 75

wrenseiest sTewTenilsens (y) 150 120 100 80

(i) Cules CarOsslLL (DT STeysEnHs@E UMTLULLD eUMTHS OIMILITL IG6 CUNSENL

S| L_WIMEITLD &HT6TTS.
(i) euewruLSHeNBHa, Hlnueussionerg 120 Ceusmeowneigenent Couenevd@ —OISS
el bLIerTed, Corueme (il TESENETT HIETSHET Y @LD 6161 SHTETTTS.

(iii) Geuemevwinesigy 30 musitaseiiled (igw Ceuewt(HID 6163160, 615 FeMenT Cousnevwimsiaet Cgemeu?

1) AB =5.50&.5, £C=25° wpmwb 2 &8 C-uilledmhg AB—&@ cusnrwliul L @&55160aHm g6
send 4 Clg.15 2_enL_w AABC euenys.
(Sieve081)
3) 4.5 Q.15 g r(peTten euLL_Lb euenrs. euL_LGlevt 158 CsemID 6(1h LeTTeflls@, omm) euL L_&g|es(®H)
Canmadenens weBsH CsTHCsHIH euenrs.

* % %



ueteflssevallsgienn, allipLyrd wreLLb.

PTA ionaf alammsasmear - 5

eigL: X BHINHD
Crmwd: 3 wevwf] wFLCluewTs6T: 100
Gy i) Smersg ellarmasens@w allowefléssa)w. 14x1=14
ii) Car(ssUu__(herer wrHn efle_sefled Wasaw gHymLw aleLmwus
Coirb0z5(h5516 G HLear allmLulmeanyw Csirsg sTipgayb.
1. () =x+1) - (x-1) oG sriurers)
1) em seng ity 2) Cuflw &y 3) @mug# ey 4) semedpé ey
2. weaflpar au@ssed gimens Capnimsl LuaTLBSI), eTHS s (Ppal T SaTSMmBIL O 460
@G Cury FleL_&@w Wlsar
1)1,3,5 2) 1,4, 8 3) 0,1,3 4)0,1,8
3. om s Qgr_iaflmsulled 31 2 muyser 2 aterer. Jgar 16-aug 2miy m aeafled, IB5S
anL_(H50sr_ireuflensuiled 2 eter stedeom 2 miLiLseflesr Fn(HHed.
1) 16 m 2) 62m 3) %m 4) 31m
3y-3 Ty-7 .
4 —y iy STEOTLIG)
2 2 _ 2
1) 9y 2) 9y 3) 21y" -42y+21 2) 7(y ;Zy+1)
(2ly-21) 7 33 y
5. x*-25=0 er Srauneng)
1) QuuiQwesst &ieyser Qedened 2) swwnest ClouwiClwess &iteyser
3) gwwnHo CWICwesT SireyseT 4) sHUmENS &iTeyseT
1 35
6. A= [2 4 6] s> QarHissiuLL e &@ (AT eraip Sewfluller aiflens
1) 2 x3 2)3x2 3) 3x4 4) 4x3
7. 8m anbargs paGaremrrsar AABC wpmiw APQR-uler spperaiser (penpGu 36 Glg.15. wpmib
24 Qe85 gu@w. PQ =10 Qg5 eafled, AB — ullesr Bemib.
16 % Q.18 2) 66 % Q.18 3) 10V6 Qg8 4) 15 Q.8
3
8. (5, 7),(3,p) wHmub (6, 6) sTeruer e CarLenwBseme srefled, p — ullesr wFLiy
1) 9 2) 12 3)3 4) 6
9. A, 1), B (8 2 C (9 4 wvomw D (P, 3) sauar emn Doensrsgler aflms Hrwwors
THSSISCETaTeTUILL L. (enesae eresfled P - eur gLy
1) -7 2) 7 3) 6 4) -6
10. acoto + bcosecd = p wHmyd beotd + acosecd = q ererfled, p? — q” - et Wiy
1) a%+ b? 2) a’—b? 3) b?-a? 4) b-a
11. swowrer el b LOMWD 2 WID 2 LW @ 2 (HemeT, W Jalbl LHMWL M Camarsdlar ser
leraseaflear allflgw
1)1:2:3 2)3:1:2 3) 2:1:3 4 1:3:2
12. Ganmerggdler ypuurildln@s sworers)
1) Ganengdlet GlonggLiLiyiy 2) eorsGanengdles OlngsrirliLy

3) eor&Canengdlest LmLILTLILY 4) Beunled s1gieLlle06m60



13

14.

wrf ellsmssreiessT

s 20 eremraseflar allwss airss syreflurers)

1) 32.25 2) 33.25 3) 44.25 4) 30
Ueraimeusraunmier 615 Seumrerg)?
1) P(A)>1 2)0<PA)<1 3) P(A)+P(A)=1 4) P(¢)=0

GPluy: emaCuap 10 allamssepdE allmweallss. allarr srewr 28-6@ sLLmuwrs

15.

16.

17.

18.

19.

20.

21.

22.

23.

24

25.

26.

27.

28.

allen_wefl&sa)b. 10x2=20

A={1,2, 3,4} wpm B =N eeis. Gueb f: A — B geng), f(x) =x° sten euswrumissiin@mns,
e16dlev, (i) f— ullewt efea5m886 snews. (ii) f sraleuens &L 6T6us HNews.

3+k 18—k 5k + 1 eretiuemeu @h dal (h& Cam_ieuflensuiled 2 eenes erevier k —uflewt wHiiys
SNEVTTS.

& ClLumEES g euflenaulles (W&e0 2 mitiLya=—7 wHnib Clurg eNHsw I = 6 sefled ClLHEHEGHS

QgL euflenaenws sness.

14445b2 16
21, 18, 15, ... o) Fnl (DSOS euflengulled —81 eggememumeug 2 miiy? Cued

858 HS0FTLiT cuflengulled 0 6if 2 MLILINELON 6TEVTLIENS SHTETSTSHSHIL 6T 6161 E)S.
R o151 6 2-mey {(x. y) /'y =xt3, x € {0, 1. 2. 3, 4 5} etew18 Qan(@sasiuL_(Hereng). S&es
LHILSSHSULD IFFHSHMSWILD ST D

A—049"B—738a§ﬁ'3A9B' Yy y
=lg 3 7/ o0oB=( | eefled3A- 601 LIS HT6wTs.
uLg8led, AD eteniuigy A- o1 @m&wbleu g, BD =4 Glg 15, DC = 3 Ql&.15 whmiw AB = 6 0l&.15 eteriled
AC -ev1 HLIHLIS Hr6wTs.

x—2y + 3 =0 wpmybd 6x — 3y + 8 = 0 g flw G CrrCanhiaeEnwd panstlanem Cam @ssnemene

616518 SHML_(H\&.

sec@—tané _ 1-siné ereor -
\Isec9+tan9 cos@ DS

45 Q&5 2 wyperer it BenL_saewiLgHesr LD st (WennGw 28 ClF.15, 7 Clg.15 erefiled
B DL_556WTL_SH6UT HEVIS{6TENE  SHTETTIS.

Qan(&sLLL L Lreuedss 678 &TewwTs.
g (uamLmsefle) | 16— 18 [18-20]20-22[22-24]24-26]26-28

LOMEUBTELIT 6TEUTTETTE: 605 0 4 6 8 2 2

ppesim) Frnen HresTwmiseT (Wennwind Gr Crrsdled aewr_LiLi(Hdlemerr.
) @ODBSULELD 6 L, HewL_&& Hn)b
i) flsuLsb @m e SHenL_&8 HopsH6|Hm6Ns HT6wTs.

1
PP (3 =42 )x — 1 = 0 16018 QBMHIGSLILIL L SLOGTLITL Lq.68T G(1F PLPEVLD X = Nl 6T6¥T60, P-6vT LOILILY

SHNEVVTS.
ugd — 111

&Pluy: eremaiCuew 10 afllamssepdE el weallss. allarr srewt 42-8@ sLLmuwrs

29.

30.

aflmLwefl&sayb. 10x5=50
A={re W/ x<2,B={xe N/1<x<4} C={3,5} Ax (BN C)=(AxB)N (A C) sratiienss
suniss.

fx) = 2x + 3, g(x) = 1 — 2x wmHmybd h(x) = 3x ereviled f o (g 0 h) = (f o g) o h erewr Blmyeys.



31

32.
33.

34.
35.

36.
37.

38.

39.

40.

41.

42.

Gl Smearsg allearrssepagw alleweaflssan.

e@meul gnest Glumm I65.000 sLemen HpLLls Cleiss (Wwaeo wisw I 400 CFassHFDNT. g6
Um@ epeubleun(p wrgpb (Whensw wigw easHuens el I 300 sgabgonss ClFassdnmi.
Uit Qh5s HLN6T L5 eTaleueTey Hrevld CaemneuliLi(Bib?

a(Dsed srewis, 10°+ 110+ 123+, . . +20°

x+y+z=52x-y+z=9,x—-2y+ 3z= 16 16510 epevimy wrilseMed emonhs ehmisend Cniluied
e (s Qsn@uien Sie| srewrs.

9x*+ 12 + 28x7 + ax + b e1®TLIZI @ (P(P EuTHSLD sTefled a, b Gy FHweum et HLILGEmETS STewws.

A= [; 31] s16dled, AZ — 4A + I, e1601 HemLN6.
Canewor @mawbleu g Canmsens e BlemLilés. (Angle Bisector Theorem)

(—4,-2), (-3. k). (3. -2) wHmud (2, 3) Fweumenn (PenesisaTias GlsTemT HIMSTSSH eI L

28 &..9100@s 6T 616vTl60, k — ullewt LS Hrevis.

B sLLsaT HoEIsmT almsasdHear Qm ussmsMEID sLeded Lwewid Gewdlemer. B
sLILeVseMeBhg semseny allosasdlear 2 &8ullar agnns Caremmmaser WwepmGu 30° wHMID
45° gu@W. sEsmr allsasdar 2 wrn 200 5 eefled, @ sLILOSHEHHE Den_Cuw 2 ser
Qgrensveneus snewTs. (13 = 1.732)

6 Q&5 gymb, 15 Q.15 2 wrb ClEmewTL i 2 (Hewen eugeull U SSHID (WPPEuGILTS L&ET)
2 616G, b LIflSanpMeus), dnldL] DHMID enT&Ganed Genenins aulgeuddled Hirliuiiu@Ens.
FaoLlest 2_wimid 9 Gl&.5 wHmID 2 Tid 3 Cl&.15 e16led, LNESHraHled 2_6iTar LilGamenL HITLILI 6155668
FaldL&6 CHemen?

315 efllL_(pibd 14 15 gy p(psitem e(m Sewtm) 2 (Hewer aulgalled Cleu_ L LiLIQEng). eueunm Gleu_Hiwo
Cung CsremngQussuuLL wewr 4 5 yseoperer eul L euiqeuons &Frms Uy ULUL(® 6
CuenL emwssLuLL oo HOCWenLullelr 2 LTSHemnss STeuwTs.

50 wreweu sem 100 ST gmrsems sL68 abOS5HS Oarewi st ereyser SCE
Qan@ssLLL(DeTere. eunHmes S L allevssd &ress.

61(0\S 51506\ S mewwTL 85_-95|os_105| 05— 11.5- 12.5-
Cryb (elewrmgaeied) | ) ' 11.5 12.5 13.5
LOMEvvTEUTE 61M6BT

6 8 17 10 9
sTevTenlgens

52 FL_(paen Canewi (06 sL_1q60mHE @b FL_0 shssuuOdamg. bs S0 @rreniwns
SI6V6VG] EOLLOERTL. 360608 & UL D& L L1 Q(H&6 Hlapsseneusd snesmis.

2x8=16

43. &) y =x>+ 3x — 4 suemruLLb eueDTHSI, SIS LWETLHSS x° + 3x — 4 = 0 6168 FRTUTL DL_S

B85,
(Sieve081)

) V= X%+ 3x +2 ullevT euenTLIL_LD UMTHS SeOETL LWETL(HSS) ¥ +2x+ 1 =0 eT651m FLOKTUM DL

SissaLb.

44. g)) QanssiuL L (pw&Garewio LMN-6T 88 Lssmsame alldlsib % 6T63T SIEDLOWILDIM)| 6(Th

4
el Oleunss (P&Canewid euenrs. (yemey syesi 3)
(Si1600051)

34) QR =5 Q&5 £P=30° whmb P -ulledmnbg QR -6@ euswmuliu L @5a16Can g6 Hemd 4.2

Q&.85 Qanewr_ APQR susnis.

* %k






11. gm Camyrsdar 2 ursHnEb, Sigear Bpeler BarsSnEwb 2-srer aldlsn /3 : 1 aafled @flumens
STEID HN&ECHTERT JjeTUTETS)
1) 90° 2) 60° 3) 45° 4) 30°

12. 1 Sv@sar rpster @@ CameruubBg 2 HSSULULBH I, OGs6T QYrenw 8 swlsrer
uBgISeTTS Y &SLILHEDS eresfled I; : 1)

1)1:4 2)4:1 3) 1:2 4)2:1
13. @ Frner s @b (WD 2-(HLLLLHILELTS] HenL_&@LD 6TERT, LIST 6TaRT J|6060F] LI(S) 6TE0T6wmTTS
Beuugpster Papsse| s )
1) 1 2) 0 3) 2 4) =
6 6
14. &Cp Gar(ssuLLmeaseflar 615 Lrasd JeTenal Bedeneo?
1) el (&srnah 2) ef&s 3) alevss euitss sy 4) 8 'L ellevdsid

Goliy: erenauCuegd 10 aflarrésens@ allmweflés. aflerr srewr 28 (g sLmuwrs
aflemLwefl&sayb. 10x2=20

15. f oyemg R embg R-&@ oyeo aniy. Cuoed g f(x) = 3x -5 et suswmumissLiL®Eng). (a. 4)
wHmid (1, b) etens Qar(ssLILL L T6d a HNID b-ulles WL senens srewTs.

16. R= {(x—2), (-5.y)} etev1uigy swedl gnitenuid @Mlé@G0wefed x wHmiL ¥ pflweuniest i senens
SNETTT5.

17. @@ anl_050lzm_i euflengulled tg —t), = 32 e1edled Fewr Clungy ellSHwnFsmss sHnews.

18. 3x=1 (L@ 15) 61631 FLOETUNL_1qM1(@E) 6TSHSENEVT (P(LD 63T & 162 &6V 2_6TTETET 61631 HTETTS.

19. sa(bged snewrs. 1 +3+5+ . . +55

20. sMEAILESS (Weomuled Sigs: 2x> —2/6 x +3 =0

21. e 616wt LHNILD iF6w HeWevs Ll opSlweunniest allsdlungd 5 srszs‘ﬂsi')?’ OIBG CTETVTEDETVTE SHTCVTS.

22. 7x*+ax+2 =0 61681 SLOGTLINL 1 63T PLOEVMISET LOmMILD 6T6xled B~ 0= — — 6Texlled, a-6&T LI Hewwis.

23. (-2, 6) wHmud (4. 8) a1 Yeefaeient eudled Olaevenid CrisCan_nesg) (8. 12) wHmibd (x, 24) eresim
yerefaefe eufled Claeoaind CritsGan_iqn@) Clem @ss 616dled x-6v1 L Srewrs.

24. 50 \f3 2_wppeier g LTenpulles 2 s8ullev (KB 30° @méssCanamsded semeoullayeisT E(LHHS
ean uMssLILGEDG 166D, s (PHEHHEGW LTEDESEGL BenL_GuwiujeTer ClGTenevamels STesTs.

25. e@m Sewio Canerd wHMID Sewio eor5Cs emn Slweunilen Clrgs LTLiLIeTa g6 FLW 6T6rled
Sieuniles sesiemeyseiest elsib 33 : 4 eeur Mlem.

26. (w360 21 Bwied sTemvTaeNen S U VGHSHMSEH SIS,

27. A wpmib B g dlw @@ elewremriiugnriger IT-ulled Cateugnanasd snsdlmuueuiser. Geuisafed
A Caiiols(hssuuBeugnanes Hlawpssea 0.5. A wpmib B @meuwmw Campolshésiu®eugsnane
Blawpsseay 0.3 sefled, B Cammolshissliu@eugnane HauL s Blspsae 0.8 e BlenLilss.

28. ABC uiled, P wpmyid Q steviienr AB wmmyid AC gl ussmiseied Sgierer yereflaer. AP = 3 Ql&.i5,
PB =6 Glg.1§ AQ =5 @l 1§ wHmid QC = 10 Gl&.15 BC = 3PQ etew Hlmyieys.

GPlly: erenauCugd 10 aflarrssens@ allmweflss. allarr srewr 42-8@ sLmuwrs
aflemL_weflssayb. 10x5=50
29. desteuemid gt seflest SLILISEISEDETS HT6vwTs.
. 2x 1 ..
D f0=T5  iDe)= V-2
30. f:R— Ruwmmib g : R — R eteiues (penmGui £(x) =x WwHMID g (x) =x* e1601 SUENTWMISHSLILIL_L_6D f. g
S Sleneu QeNIS0lETETIESST sTeutayLd fog 6T6ITLIG) 6TNISCISTETTMNENT FTTLIMELON 6TETOLD Sy TMUIs.
31. @m S8 Qi euflensulled wsed P 2 miliyseiaTr sa(dige sefled ap’ + bp yzer Cung
alsHwnssSHenens snesis.




32

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

W efamssrsies
& BUT (1 Binieuesdled glemewt CoeonemynaLs Liesulleo Cardmn. i6uHsE BHNICUETLD (LP&ed
g 2erlwions I 60,000 euEI@GSEng LHHID ewT(H 2erSluiwns 5% 2 WiTe| UPEIGSTS LILS
Qanemdlng). 5 euL (Pigailed euHENLW NG 2erdluild 6TELIEU6TEY?
(c®>—ab) ¥* — 2(a® — bc) x + b? — ac = 0 61631 FLOSTINL 1q.60 PPEVEISST &Lowb HNILD Glowl eTefed, a = 0
2160608 a° + b’ + ¢ = 3abc ereur BlemL .
a’+ 4a — 12, a> - 5a+ 6 et LEONIMIILECETENeussMeET L5.Clmeu a — 2 eTaflled, HLILIONIMILILIS
Ganeneuseafilest 15.6Clum.b SnewTs.

(1 2 (0 3 (-1 5 ) 3

A= 3 4 .B= [_1 SJ.C— 1 3 1680 A(BC) = (AB) C et6w1 flmyevs.
APQR- &0 9yiqLi1&8b QR &@ Olemi@ssns 2_eTer PS oy eng QR—g S— 60 h,868mg).
Guoguitb QS = 3SR e1efled 2PQ? = 2PR? + QR? e1ew1 Himieys:.
A(6. 2), B (-5, -1) mpmub C(1, 9) i dlweumenm (penesiseamnas Ganemi AABC - 61 (pemeut
A ~leSmBg eusnrwiL@GL BHSCHTH LHMID &SSISCHT 19651 FETLTDISEDETE SHTETTS.
(cos3A—sin3A)_ {cos3A+sin3A

cosA+sin A4

cosA—sin 4 ] =2 sinA cosA etest HlemLN&s.

& dnbLlesT QevL_saewiL_g et mywrid 10 Q&5 gy@w. 56 GomLm, Spriym eul L LiLgdlsemes
anmerey (WeomGw 28 Glg.15, 18 Gl&.15 eT6rlled iH6TT UMETLITLIENLIS SHT6TTTS.

6 Q& 15 b wHMD 15 ClF.15 2 wrb CleETewT @ 2 (HeweT augail UTSHTSHeD (P(LPeuGILISHLI
ueflGanl) 2 6Tengl. HHL USSP, Fnlbdl| LONIL HOTSECaTaTD BenenThs 6eulgeussled
Briuiu@Eng). snibliles 2wy 9 Cl&.u5 whHmib b 3 Q& .15 e1efled, LTSHrSHled 2_6item LisflganenLy
BlrLIL 618556068 dnlbLis6T Caemeu?

Uetteupd L cuenewrulled e ueTaTullesT LSSTD EUGLIL LoTewTEUTSHETeT 2 WFD  LHILD
sTenL_seMesr gynefl wHmD ellevss euiss ernafl odlw wliyser QarHssuuL (Hererer. Qeunmled
6181 HODreTenD el ifls Ceumun® 2 enL_wig)?

2wy 6TEML_
Fynai 155 Q&.8 46.50 &.8
alevés eussaTTEf 72.25 Q&.18 28 09 &).&

(H BTG PPN (evm sewi_u HFng. Fflwns Qrewi(h SHmevs6T 60608 GHEHDHSLIL FLD
(5 L 3160608 305505 Drewi(h SemevsaT SlenL_LILGHSTES HHLDSHMUS SIS,

Golly: Smersg allearrssepagh alemweaflssan. 2x8=16

43.

44,

21) PQ =8 Q&.15, /R = 60° 2 58 R -edlmig PQ-&@ euswruiul L bH&Can g6 Hemd RG = 5.8
Q&.8. steor Qa@wIM PQR euenrs. R-edmnbg PQ 8@ susonwliul L @5586Cam e emd
STETTS.

(Si1600051)

33) 6 Q&8 efl_L_(eitem euL_L_1b euenrhg euLL_Sdles enwwsHedlmng) 8 Gl&.5 Clgnenevailed P stetim
yeeenws @lsaeyw. linerelulledmnba PA wnmb PB seiin @@ sthiCan(hser auenrnbg)
Sieunnlest Hemmigenst yenall(His.

&) y=(x—1) (x + 3) Wlewt euemTLL LD euEDTIHSI, SIS LWSTLBGS x° — x — 6 = 0 6T
FOFTUML_6WL_S &i1SHH6|LD.

(Sieve051)
)Y = 2x 61681 CUEPTLIL_LD 6UEDTTES], SISV epevLd 2x° — x — 6 = 0 61631 FLOGTLITL LS &iT65.

* %k



ueteflssevallsgienn, allipLyrd wreLLb.

il allarrHsrear - 7

eigL: X BN D
Crmwd: 3 wevwf] = wFLCluewTs6T: 100
Gy i) Smersg ellarmasens@w allowefléssa)w. 14x1=14

ii) Car(ssUu__(herer wrHn efle_sefled Wasaw gHymLw aleLmwus
Coirb05(h5516 G HLear allmLulmeanuw Csirsg sTipgayb.

1. fupow g eerp Premr® sriysesd £={(0, 1), (2, 0), (3, 4), 4, 2), (5, 7}, g = {(0, 2), (1, 0), (2, 4),
(-4, 2), (7, 0} erewrs Qar(HiSsLILLLTed f 0 g & alFgsOTeTS)

1) {0,1,2} 2) {0,2,3,4,5) 3) {1,2,3,4,5) 4) (-1,1,0 2 7)
2. f®)=(x+1)1-@x-1)° eIuIGb srjurerg).
1) @m sene gy 2) Coiflw iy 3) @muig# eniry 4) geneod1p iy

3. t,tyty...... eTaTLg) @ Fa-HS0sTT auflems erafled, tg, t)), t15...... eTRTLIS)
1) @m sal (s Osni cuflens
2) @ QumsEs Can_ieauflans
3) @m FmL_ (s Ca1i euflensuwede, OLMmHSEGHS CTLT  flensu|weden
4) e wihleds Qs euflens
4. (13+23+33+....+153) - (1+2+3+ ...+ 15) uller ogluy

1) 14200 2) 14280 3) 14400 4) 14520
5. (2x-1)"=9 -uflest w&uy
1)-1,2 2) -1 3) 2 4) @dled ergiayb Qedenev
6. epearm wrilsafled emwHg ewarm Crflw swarursafar Cgr@ulnE Srasar Bedeneotluesfled,
31505 1GLILled 2 aTer HaTEISET.
1) Cr e yeteMuiled Gleu_ (R&leiment 2) getiennolwnein Cleu L g
3) @Cr e Caniged Cleu(H&lesimer 4) epestdlest 58 epevim) ClLINHHSILD

7. O-g enwWLTs 2 e el L $ZNE, QeueflGuuster Lertafl P-ullefimig) euenmwiiiu L
QsrHCar(hast PA wpmiw PB gu@w £ APB = 70° eresfled £ AOB—uflewt gy
1) 120° 2) 130° 3) 100° 4) 110

8. omsaflar 9mGs BB Cearm CsTarTy.HEGWL @M HUBHSSW FamHESWw Pen_Cu 2_arer
Srrb 10 yeo@ser SHaueny Y-es1ss6 SHHSITTE, SibS HLT ClFeded LTeng sTarug).

1)x=0 2)x 0 3) y=0 4) y=10
9. 7x-3y+4=0eemp CriCariyigs Qer@ssraaw, sFliearefl aifls Qe CrirsGasrLIg.er
gwerum(p
1)7x 3y+4=0 2)3x—7y+4=0 3) 7x 3y=0 4) 3x+7y=0
10. (sina + coseca)’ + (cosa + seca)’ = k + tan’a + cot’a eresfled k —evr iy
1) 3 2)5 3) 7 4) 9
11. x=atan® wHmb y = bsecO erevfled
2y Y y: X ¥ X
1) 557 =0 2) Tt =1 3) =1 4) 5+ =1

12. 1 Q&.5 oo 5 Q.S 2 wrwpn Csrewi @wm wr 2 Boaulllphs SiFsuLss sar Iara)
Qarewr Caremd Clai g sTHi&SLILMEIDS) cTaulled, ST HeriaTey (5.08.15-60)
10 20

4
1) 5n 2) 3T 3) 3n 4) 3T









o el gneist
ueteflssevallsgienn, allipLyrd wreLLb.

il allambsrar - 8

auEuy: X

Crmwd: 3 wevwf] HIHBD wFLCluewTs6T: 100
Gy i) Smersg ellarmasens@w allowefléssa)w. 14x1=14

ii) Car(ssUu__(herer wrHn efle_sefled Wasaw gHymLw aleLmwus
Coirb0z5(h5516 G HLear allmLulmeanyw Csirsg sTipgayb.

1. f(x) =2 whmbd g(x) = 3L sreefled f 0 g gy eurH.
X

1 2 2 3
Ve D3 Y or Yo
2. A=f{a,b,p}, B={2,3}, C={p, q, 1, s}, erefled, n[(AUC) x B] syemrg
1) 8 2) 12 3) 16 4) 20
3. A=2% ppmud B=2%+2%+20+  +2° qens Qer@ssiuHererg). Latameaiataupled 65
2_ewTemin?
1) B ooz A— gp el 2% giflaid 2) Aoz B - g eill 1 gifa
3) Awpmbd B swib 4) B gyeuigl A- @ &l 1 gSlaid
4. 1 psed 10 eusmyweter (Brewt(h TERTHEHID 2 L LIL.) DTS sTamTaemmeld aiGuUBLD Wlssdnlu
6T6uoT
1) 2025 2) 2520 3) 5025 4) 5220

5. ¢xP+pix+ri=0 6T FLORTLITL Iq.607 epevmiseflar aufssEiserT, qQl+px+r=0 6TEUTI) &LOGTLIML_Lg. 60T
eevrEIsaT sTerfled q, p, I' TevTLIGHT.
1) sal (08 OQan_ieuflens wHMID CLHEHES CST_Teuflens Brewiqebd 2 eTeres
2) @ snl_(HS Csr_ireuflenagulled 2 sitemeu
3) @wm QumEE&S Cs_Teuflengulled 2_siemes
4) Bdlev 18160y BVEn6V
6. SpsrewrueTeudmieT 61 Fiflueded?
1) @@ BHUgs FTLTL g6 pevEIseHe ClLHESMHLIEVET “6euTn)” 6efled b Sl s
FLOGVTLIML_IG.63T 62(1F) PLPEVLD LOMMSGET HEWEVEE) (&)LD.
2) A= 2] puq 6T6WTEYLD M = 1 6T6vTEYLD ClEHMERTL_TE) “A” 6TeTLIg) HlenT 36wl 6160 jeMp&ELILIHID.
3) @wm #8517 6wt “A” wenen 4G auflenswen e0E Sewllullenied ClLHEHEG g sTeTLG 6wl
AT 60 6168 @ LIDDSOSWID THLOSSTSI.
4) elLCLmEseoTes g eTLbILINpED LflwrHn e 2L L(Ib.

7. ;—2 = % etesfled, ABC wpmyd EDF eriClunpg) algtlairggsemawns jeniowjn?

1) /B= /D 2) LA=/D 3) /B=/E 4) £ A= LF
8. (5 7),(3,p) womub (6, 6) sTeruer e CarLenwb e srefled, p —ullet L

1) 9 2) 12 3) 3 4) 6

9. (0,0) wpmubd (-8 8) ererp Yeraflaemer Qenewré G Caminn@s Cem@sgrear Carig.ar smniea)
1) -1 2) 1 3) % 4) -8

10. sin%0 + Tae iy

1) tan’0 2) cost’d 3) 0 4) 1



11.

12.

13.

14.

o 2 meeruller QT JFeT 2 wWrSSled eernfled eum LEIE eTesfled, SiFeT ClTSFLI LDLILITLIL

8mh? 2 2
1) 5.9 2) duic 5.9 3) B 5.9

4) 247h’ &.9

ST 5 Q.15 wHmb srywre 13 Q7.5 2 mLw CriaL s sawiiler 2 wrw

1) 5 Q&.8 2) 10 Q.18 3) 12 Q&8 4) 13 Qg.8

SWeVLD HeYIHH6D CurLiguiled seonhgIClaTeRTLTer. EIE Crsgw 135 F_(Hsar allpsLiu L er.
sweold Qleunifl CumeFHaSTeT auruiliL % ereufled, swevd eurmidlu FL_Haefler sremrenflaans

1) 20 2) 15 3) 10 4) 5
SpsrewTucTaupmier 618 &flwedeo?

1) “eflevss aufses srneflullen” Wlens aurss epeoCn L elevssid oy @Lb.

2) “snedione ellev&aid” 6TETLIG HFHMED JOTENEUSHEDHET RETDTGLD.

3) em Hawpssuler Hlapsaea) V5-1 6165 B)(H&&S6VNLD.
2

4) P(A wmmib B) steiruigy P(A U B) stenr @\(méaeonio.

&Pluy: eremaiCueap 10 afllamssepd@ allmweallés. allarr srewr 28-6@ sLLmuwrs

15.

16.
17.

18.

19.

20.

21.

22

23.
24.

25.

26.

aflemLwefl&sayb. 10x2=20

A={3,4.7, 8} wpmbd B = {1, 7, 10} e1efled &1 2 _6iten sewrmseied stemeu A —eSHHg B -6@ 600
2_meneud GNIGHesma?

OR=1{3.7).47.(7.10) 8. 1) (D)Ry={G. 1), (4 12);

f e16mm &y f(x) = 3 — 2x e160 euedTWMIGSLILEEDE f(x%) = (f(x))’ s168M60 X — & SHNeTEIS.

wh6ig.681 u@BH60 eulpenmenwis LRSS Slesteueussteunilest LS Cluim.eu srewTs.

84, 90 wHmLD 120.

Q@ eouulled 5 oo BmLiLBISEHD, 4 LFms HDLILGHSEHD 2 6Temer. enLUled(HHS FeumiiiL]
(wemmulled @ Uk TO&sLILGEDE. shssuUL@L ukhgteng (i) Beowns (i) Keowns Bedeomoed
BmLughHate Bensseneals Sremis.

Spéangyibd QHUIGEF FORTUML 1q.NE) APEOEIHETET Fan (D60 HNID ClLIHSSDHLIEVETT SHT6wTs.

3y’ —y—-4=0

A et yeiteflulled @mmg B etevm Leele@é Oleedeusn@ @@ @embd euuns, mLkbg ClFeden
Couemtd. @ed euflCw Cleeveuenss salljsas 34 5 CanGaswyw, 41 1§ HlpseE Crrsdywb HL&s
Geuewi(b. @eno euflunasd ClFedeusn@L LTS & LILTeng eublCw ClFaimed saleuee,
BT Ogremevey Cabldsun@w?

(1,-1). (4. 6) wHmId (-3, —5) 61681 LeTTesemmed SyemwasLILBIL (PSCHTERTSHET LITLIL| HTewwTs.
QarssiuL L @ Lerefser eufld Glaeoad CrTCaNL 1q.681 FETLITL L& S16swis.

(2. 3) wHmb (-7, 1)

sech — cosf = tand sind eTesTLIENS HepHLIGSRLD.

208 2 wppeter sLigL Sl 2 &5ulled @ ellewemwn(® efry wiKhG ClETERT(H SHevrulled
2 616 6(H LUhens 60° Bmsss Canewigdled anewidlpry sefed sLiqL qliL@GHsEw urHnELw
BenL_Cuiwjeer Q& TeneVEmeus: HT6TTTs. (\3=1.732)

B anibyseflen 2 wrkiseien elldsn 5 : 3 eremeybd yrmseisr ellflgw 2 : 1 aera)b Clemewr_med
Sjeunnlest sevriemeyseileir allflsid wing)?

88 &.0l&.15 eusmenruyLienLw @ Crieul L 2 memerullesr 2wy 14 Gl&.5 eefled, 2 (Hewermullest
el LD &TeuwTs.






40. 60l&.15 (e e(h Hevrnd Canenib 2 HESSLILIL (D& ETT6N Siq LOERIOTET 61 26Tl L_DHM 2_(HeneTLINg
wrHpUUGEDG. 2 Henemuiles Gleuefoyrid 5 Gl&.5 2 wrw 32 &5 aeafled 2 HenaTulles Sigoeness
SNETTTS.

41. @rewi( usenLse6T 2 L L LiuBdemer. SHenL_ssLblunibd (s wHliLseler snHged
(i) 4-8@& swwns (ii) 10—z el Clufigns (iii) 13—g L& @eneuns QmLUILSDHETeT Hlapsse]
SHIETVTS.

2. fX)=x—1(x+1),g(x)=x"+ 1 1660 f (x) HMID g(x) &7 LI SewwTs.

GoluL: Ymersz allamsseps@w el weflssawb. 2x8=16

43. o)) Sglinssbd BC =8 0l&.15, A= 60° wnHmniw ZA ulles @mewbleu iquineng BC g D stevip emeuiled
BD = 6 Gl&.1§ eiesimeunny shHadlng stefle (p&sGanewid ABC eusnis.
(S1e06051)

3) 6 Q.15 el L_(eiter eul_L1b euemrhgl euL L SSHle enwwsHledmng 5 CF 15 Clgrenevaileerer
Q@M Uemelenws @Hlasayn. uyetefulledmbg el Lssin@s CsthCarbser euemrhg
Qa1 Can g6 Hermigamet Senall(His.

44. =) R HNSHMLWNETIF SHEUIG CUMQSDSWTETISHEHSHE eUNEIGD eeibleun Glunmsfler LSg)b
50% serepugenw NelleEdng. GNSS lleneosi@GHn S6TEHLIGHGIENT CUMTLLLD M.
Cueviid,
(i) euewruL55eNBHG, 6@ eungsenswrert 3250 g setEpuUqLIsl CUDDTD GHNSS
alleneoeniLis: HTeusTs
(i) @S5 afleweowneng) I2500 eT6rlled S6iTEDHLILGEDIIS SHTESTTS.
(S1e06051)
@)y =2 +x Wledt euenrLL D uewBEl, X + 1 = 0 61651 SLSTLNL L8 SiTésaLb.

* %k



o el gneist
ueteflssevallsgienn, allipLyrd wreLLb.

i allarmdHHmer - 9

eigL: X BHINHD
Crmwd: 3 wevwf] wFLCluewTs6T: 100
Gy i) Smersg ellarmasens@w allowefléssa)w. 14x1=14
ii) Car(ssUu__(herer wrHn efle_sefled Wasaw gHymLw aleLmwus
Coirb0z5(h5516 G HLear allmLulmeanyw Csirsg sTipgayb.
1. R={xx)|x gergl 13-x allé Gepairer usT srewrsat} e 2-pallar efssswrars

10.

11.

1) {4,9,25,49, 121} 2) {1,4.9,25,49, 121}

3) {2.3.4,5.7} 4) {2,3.5,7,11}

(A x B) = 6 wpmid A = {1, 3} sresfled n(B) Syers

1) 6 2) 3 3) 2 41

oM LB Osrijauflmsulled 31 e muyser 2 aterer. Jigar 16-augl, 2-miy m aafled, JBS
L (H$0sr_jeauflesulled 2 erer sredeor 2 miiseaflar sn(HFe0.

1) 16 m 2) 62m 3) 32_1m 4) 31m
F,=1,F,=3 wpmw F, =F,, +F, , etené Qar(hésuuger F oyerg)
1) 8 2) 11 3) 3 4) 5
x+y-3z =—6, -7y +72="1, 3z=9 etesrp Qgr@LIier SFey
1) x=—1,y=2,z=3 2) x=1,y=2,z=3 3) =1 y=2.7z=3 4) x—1,y=—2,7=3
3y-a Ty-7

y | SeUS

9y° 9y 21y° — 42y + 21 7% =2y +1)

D (2ly-21) 2) 5 3 T @y-21 % y?

B® agQargs pa&Garemrmasst AABC wpmw APQR — wler shnerayser (pennCGw 36 Clg.15 wHmib
24 Qz.5 gy&w. PQ = 10 Q.15 erafled, AB  ullewr emid.

2 2
)65 Qo 2) 66 5 Qe85 3) % Q&8 4) 15 Qs 8

6 15 wpmb 11 1 2 wyepster P SwuUEISHT Fogers Fenrulled CFEIGSFTH 2 aterar. Jjeunniler
g sEHsE Do Cuuerer Cgremevey 12 15 erafled, aundlar 2 sflaensE Deo_Cu 2 eter
Cgreneva) eTesTeer?

1) 12.8 8 2) 1318 3) 1448 4) 1518

D)L :3y=4x+5 (ii),:4y=3x—1 (iii) I3 : 4y + 3x =7 (iv) Iy : 4x + 3y =2 eTe0r6 Qar(HSSLILIL L
Brei CriCanhaens@s Spsaan. sanmisafled 618 2 amrenin?

1) [} wHmib /, CemiGsSsneneneu 2) I, bmmd /3 PewewTnesiene

3) 1} wHmibd 1, PevewTwinesteneu 4) L opmd 1, QemiGssneseneu

Brewt(h) BUTHEDSHE DenLLLLL Cgreneay X If QL @Ww. WS Kufler e wrwrarg Prewr_raug)
sufler 2 wrSengl Gured B L EISTS 2_aTargl. JaITsEHEE PerL_LiLL L Qgrensva) CriGamLig.cr
eovwlysteflulledmBg Dm pursellar e sduilar gnns Csmemrmiser BlruysCasrenrmisar erefled,
GLewLwrs 2 eter Bufler 2wy (L fled) srewrs.

1) 2x 2) V2x 3) % 4) %

acotd + bcosec 0 = p wPHmD beotd + acosec 8 = q erefled, p” — ¢ -eur Y
1) a®+b? 2) a?—b? 3) b?>—a’ 4) b-a



12

13.

14.

15 Qa8 2wy 16 Q&5 allL_pb ClsrenT @b CrrauL & sawbUlear aieneTurliy
1) 68n &.0&.15 2) 60m &.0&.15 3) 136m &.05.5 4) 1207 5.0\5..8

8B USss5mES swamiiu wopuls e ussh CsibosGssLLOEDS. SBSL LSS
sTewrewflesr pavrpmd @ wgliunerg) 7-g & Genneaurs QELLSDaTET Blawssa)

3 3 7
) 2y 3 10 Y 10
x-8,x-5x-3, x, x+2,x+ 3 wpmud x + 7 eresrm HAev Yyerefl afleurmseflar alsss Cap erefled

x -t iy (Rrig x € 1)
1) 32 2) 23 3) 30 4) 1

&Pluy: eremaiCuead 10 afllamssepdE el wellés. allerr sreawr 28-6@ sL_Lmuwrs

15.

16.

17.
18.

19.

20.
21.

22.

23

24.
25.

26.
217.
28.

aflmLweflssayb. 10x2=20

X={1.2,3,4} Y={2,4.6,8, 10} wpmub R = {(1, 2). (2. 4). (3. 6), (4, 8)} eredle0, R syems1 m &miyy
616518 ST (D&, Gid iF6w s, genewt wHLILsD WHNID 6TFF556058 HTewTs.
f: N> N eeoip Fnijy f(m) = m? + m + 3 eewr QU TWMISSLILILL_TE) G| 66VTMIEHS) ER6VIDTEVT SFMiyL]
616018 SML_(H\&.
281 95 17 o160 eu@EEL GuNg) HevLs@Ew 58 snews.
729,243, 81, ...... s QLB &GS CBML_fevt 7 eugl 2 mLenLIS Snewis. ClLh&@S0\STL_fleT Ny g
2 MUy,
A= > T A2 =Tew :

= (6 _s|- A" =l asiuengé sflunss.
18.Qum.eu sewre: m” — 3m — 18, m? + Sm + 6
3 Q&8 gyreter eul L gdlenr eowwsHeNmHE 5 eSS Czreneveller 2 erer Lemeiluledlmng
UL L §8IN@ eusmmuiiul L QstHOCsn g6 Hermd snewrs.
Bx+(1-B)y=3 s16s1n CrIGan (B Fwerun_iqer sniey, y — Oeul (HSgien(h pdweunenns
SNETTTS.
@M usem 2 BLLUUGL 4Cs CrrsHed owm mrewuwpd &sewiuu@Eng. usenLuled
ENHEODLILIENL 6165 SlewL_LILISNH G LD, HIETILSHED H69608 SlewL_LILISNGLONEN BlHDSH6USH SHT6TTTS
x=asech + b tand wmHmb y = a tand + b sech erefed x> — y* = a’ — b? e16w Blmieys.
Semd 3 1S wHmb el 1o 2.8 15 2 enLw @ FwETLHSSID 2 (Henetenws Clarent(® @ Cam L b
FSLOSSLILOEDG. 8 &HMISEMED sTaUeTR] LITLIEHL 2 (hHeM6rT FLo6sT lFwun?
B Canenmisehien oy rmiseamen alldlgib 4 : 7 e1etled, Sjeumblest seur yeneysae el srewTs.
Spsanemib HreysE aide wHmb aiFas Claeneus srewis. 43.5, 13.6, 18.9, 38.4, 61.4, 29.8
7y = ax + 4 woHmd 2y = 3 — x HHCKT&CarDseT Qeneuwr stafiley, a -6v1 SILIL| Hrewwis.

GPluy: eemaiCuap 10 afllamssepdE allmweallss. allarr srewr 42-8@ sLLmuwrs

29.

30.
31.
32.

aflmLwefl&sayb. 10x5=50
A={xeN|1<x 4}, B={xeW|0<x<2} wpmb C= {xeN |x <3} eteo160
A x (BN C)=(AxB)N (A x C) eretiuesteumenmné fluniée.
flx) =3x+ 1, g(x) =x + 3 g flweneu @ enijyser. Cuenbd gff(x) = fgg(x) e1eed x— p& snewis.
300 &b 600 &@w QevL_Cuw 7 9460 uGUOID SeneTISE Bwied cTewTaH6NetT Fo (DGO SHTETTTS.

64x* — 16x° + 17x% — 2x + 1 IRTUSET 6UTESHEPEOLD SHTERTS.









11.

12.

13.

14.

wrf ellsmssreiessT

I') SIVGS6T JYT(paTeT R CHTETUILIBS) 2 (HSBHILL(H I' SV GS6T QLT(penLiu 8 swCarer LbgsaTTs
S&aLULOEDS) eresfled 1;: 1,
1)1:4 2)4:1 3) 1:2 4)2:1
x-Qg.f gupeter @ Slewins Carerd G5 JTWeTeT M Fawurs wrHOLILHEDG erefled,
saLiler 2wy
1) 4x Q&5 2) 3x Qg8 3) 2x Q.8 4) x Q.5
SyEHe eT(pSFIH6T (3, b, ....., Z) -ulledlmB S T TS5 Fweauriiy wenpulled Csie) QeuwuiLB#lng.
SIS TWHS -6 Whmsw assisafle) paiprs YoLLgHarer Blspssea?

1 12 3 23
D1 D1 ¥ 2 KT
om srailar FLalwsswrarg 3. eaitlanm wlumuww 5-94,60 QumsHlarmed HaLs@w ySu
grailer allwss afss srreflurers)
1) 15 2) 225 3) 3 4)5

&Pluy: eremaiCueap 10 afllamssepdE allmweallss. allarr srewr 28-6@ sL_Lmwuwrs

15

16.

17.

18. A

19.

20.

21.

22.

23

24.

25.
26.

27.

allen_wefl&sa)b. 10x2=20

A={1 2, 3,4, ..., 45} wmmib R eeim 2 mey “A —ullesr 1581, 6 erewienien euiHsD” etewt
euemTWMISHSILILL 60 R—g0 A x A—ullest 2 L sewions e1(pgis. Cueib R-&anes wHliussamsub,
T FFHSMBWLD SIS,

A={1.2,3,7} womb B= {3, 0. -1 7} etexleD, Levtoumeussteunled etemeu A —eS\ kg B—sasnest

2 peysem@w? () Ry ={(2,1.(7 D} i) Ry ={(-1 D} (iii) Ry = {(2.-1), (7. 7), (1. 3)

(iv) Ry= {(7. -1), (0. 3), 3. 3), (0. 7)}

16, 11, 6.... e1601m dn (NS QBT Fl6vT —54 6T6¥TLIG) 615 FHEMETTIINTOUS 2 MLIL|?

_(cose sin®

) stefled AAT = 1 Hlem 195

—sin® cos6

a=b 2a+c) (1 5 1651 6wl FLeTLINL L4 6d@HHE a. b, ¢, d wdliLsemens snewis.
2a-b 3c+d 0 2

Brewi(n Clung emwow euLL_migehlen gy rmiseT 4 G&.5, 5 CF.15 @, b auLLSSleT HrewTreng
wHEDIH euL L SHN@&S QSTHCHTLTS HEWWHSTED Seleul L SSleur Brewile Lo srewrs.
QanmssuL L usTefger m Can_iqed enwujb 6Tesled a 631 HLIenLIS HrewsTs.

(2.3). (4. 2), (6 -3)

Qar&siur L @ Letefser eulfld Glaeoed ChriTGCaT 1q.6 FTUTL_6nL_5 STewTs.

(23] otos (3

Qung elflsb Wens stewtemie QMHEHGW @ UMmSSs CeTL_Med 4 2 MILIL&HeT 2 _6TeTe. (LP&ed
2 2 miseilest ga(HBed 8 wHMID ST HewL& 2 2 niLiILseler anHged 72 sefled 50HT_enrs
SNETTTS.

sin® cos®

cose 8 1 secp — | 16D (pHEIDN@HEmIDEDW Bimieys.
& Canengdlest mLiLrLiy 154 &.85 e1efled, e all_LLb SnewTs.

Brewt(H) HIERTWEISET QRETDNSE srevwwTL_LILI(DSlesTment. @rewt(H mrewTwEiseie)b CleusiGoum) (amise
SewL_LiLgnanes HsLHSSH6 6TevT6w?

o sreler S alevssnd 4.5 @b, Hed QmeGL sreylisrel geaitlaunamiain 5-0 sllés
SewL_s@b 4w sreller SL_alevssd srewrs.



28

@ Sewisdler b HenrsGasner eugelednd Cupyph &abl eugelein 2 eterg. B
UGSHeMe cuemeTUITLILISHET FOD 61660, Faldl] euiqeuSSlenr T WHMIL 2 WD Iy Sweunilest

lllabd Hrewis.
ugas — I

&Pluy: eremaiCued 10 afllemssepd@ allmweallés. allarr srewr 42-8@ sLLmuwrs

29.

30.

31.

32

33.

34.
35.

36.

37.
38.

39

40.

41.

42.

aflLweflssayb. 10x5=50

2x+7  x<-2
sniyf: R—> R syengy f(x) = (X' —2 —2<x<3
3x-2 x<3

1) f(4) (@@)f(-2) (111) f(4) + 21(1) (1v) TG

QarssuurL f(x), g(x), h x) gy dweunenms Clanewi(® (fo g) o h=1fo (go h) etena ar_Ds.
fx)=x—4, g(x) =x wmmibd h(x) =3x -5

&1 LI Hnewis

a, b, ¢ eteviLIeN 6 Ful (HS ClFTL_Teuflewaulled 2 6o epaiin HHSS5HSS 2-MILILSS LHMID X, Y, Z
ST Q@ QILBEE CsT_Teuflensuiles ewean HSSDSS 2 miIssT sTefled x°° y@ x 270 = 1
6163t HIM)6 5.

UGSS60 (Pewmulled LilesrauhLd LIEOIMILILIGEEHTENEUSEMNET UTSSHAPEILD SHT6TTTS.

37x% — 28x° +4x* +42x +9

2 -1
12 1
A= (2 -1 1] whmibd B = [_01 :J s1efie0 (AB)T = BTAT ereuiensé sfuniss.

SigtiuenL allflga Cappsams swd Bnies
P (-1.-4), Q (b, ¢) wmmybd R (5. —1) erestuien Gy CrnGamiq.60 emoujid Lsitefilse sTeviss.
Geaitd 2b + ¢ = 4, eTetfled, b MHMID ¢ -ullewt WHLIL| SHTeswTs.

8x + 3y =18, 4x + 5y =9 g dw CriCanaer endla@b Lerafulles euflwnseyb (5, —4) wHmibd
( 7. 6) ¥ yereaenst Qememta@b CriCar_(Hs giewrnges mHLLsTeN euflwnss ClFedeb
CriyGan 165 FLO6TUNL_6HL_8 HTewwTs.

sind + cos® = p sech + cosechd = q e1edflev q(p” — 1) = 2p eT6w Blmyieys.

emeuy, Caryrsdedmng aleodl sLeled Ceain OaremiymeGn UL (@ paenn Camyrsser
2 &8Nl pHa unisSpry  Osremevelsled uLL @ @meGw Cumgy uLews Seui  60°
Bn&asCanemsHed anewrdlpny. 10 allesmngser slss nssasCanemo 45° o8 wIMSng eefle,
uL@ Qeeod Cousgsdlenens (H.5/wenflulled) Camywwns sevsHBs. Cuoand UL (@ Bleneow e
GewuTenst fle0 ClFe0SImg) 6T6v18 &5(1HS;I5. (3 =1.732)

Bges sT6vTn GlLmlulluied wressteuir 6 2 (Hewerullest HUD(PLD SnldLig6T 2 6Temeunt) S eesenm
2 meunsdlesny. wrdflullesr Bemd 12 Q&5 womw e Lidb 3 C&.f y@wb. eibleun h &nbiles
2wy 2 Q&5 Qms@wesed Brger 2 heunsSu wrSlfluller seseneneud snesmis.

@7 SAenr&Ganer augeud Slewenslen allefibL euenyulled LipFetn Bybweteng 2w FHmgeil
50% oi8la o471 Q\anewT 2_(Henen aulgeult LnsSrsHnEL upsenn wiHPULGEDG ersGaenmd
wOHNID 2 Hever HyHweundlesr el L EiseT Fwwremmed HewrentsHedlBrg ecaiaete sgalsL
ULpFFTN)| 2 (HEner euigeu LNsSrsSn@ wrmnLiu@wn?

@rewi(h usemLser 2 L L LLO\Eeamenr. QrewiO(ps LHILSEHL FOWIS B(HES V0S (PS
&L seMett gn(HF60 4 48 BHLUILSDHSTEN HSDSHM6S HT6TTs.

@ (&Canemsdler KH&CaTOS6 e Lee eulfle Clgedenib eTeus s (Hs.



GOl Smersg allerrssepsign alenweaflssa). 2x8=16

43. =) QR=6.50g.15 £ P=60° wmmw 2 &8 P-ulledmibg QR &@ eusorwiuiL L @5816Can 1.6 e
4.5 Q.18 2_enL_w APQR euenrs.
(S1606051)

<) Qar@ssluL (p&Ganewid PQR wileT 55 umm&sfﬂm aﬂéﬂg,m = 6760 IEMLOWILOMM)] 62(TH
augOleungs (PW&CHTEILD euems. (Iiemey snresi — )

44 o)y =+ —4x + 3 UIQT UTUL D UDTHEI. S epedld x° — 6x + 9 = 0 6TedIm FLOGTLNL DL
Sirésayb.
(Sie00051)
) @ Cumh Wweils@ S0 &5 /wenll sreim Fynenr CoussSHled LweNsSN. BS0lGTL T &eNew
S - Cryb euenTuLLD euenThHEl, L6Teu(hHeSSTEN NS HTETTTs.
(i) eNdlgaw wmiedlenws snewrs. (i) 172 wenfl CrrsHed Lwenra@d STTLD sTelaueTey?
(iii) 300 &5 grrsens Lweniléas salaueata) CHIL oy ELW?

* %k






10

11.

12.

13.

14.

W efamssrsies
e Caryrsdlar 2 wrsdneb, sigear Blyelar BargnEb 2-arer alldgw 3 : 1, aafled @ fluemers
ST THNECHTERT JjeTUTCTS).
1) 90° 2) 60° 3) 45° 4) 30°

(5 FabUler LM ST (P ESTSaD 2_Wrd S WL ESTSHaLD IleTTed S6TaTa] 675 e
DL_EISTS IM|H?

1) 6 bLEIG 2) 12 wL_EiE 3) 18 wLEiG 4) wrmndledensd
Carergdler yoLLrilln@é swwrerg)

1) Canengdlesr GlongsL LTy 2) oemrsGanengdle Clorgg iy

3) SemrsGanengdlesr LmLILITLILY 4) @eumled 61516 5606060

100 greyu yereflaseaflar srrefl 40 wHmwb F_L afllewssd afled, allwsstisaflar arsss saOgeoorars
1) 30000 2) 40000 3) 160900 4) 160000

8,8,8,8,8, ........, 8 gyl grafler alés

1) 8 2) 3 3) 1 4) 0

GPliy: erenauCuegpd 10 aflarrésens@ allmweflés. aflarr srewr 28-8@ sLLmuwrs

15

16.
17.
18.
19.

20.

21.

22.

23.

24.

25.

26.

217.
28.

aflemLwefl&sayb. 10x2=20

B x A= {(-2.3),(-2.4).(0.3), (0. 4), (3. 3), (3. 4)} ee¥flev A OMI> B gy flweunenns snewis.
flx) =3x -2, g(x) =2x + k womd fog=go feeflev, k ullest dlienLis snewis.

Fa(HgeL srewrs. 1| +3+5+ ...+ 71

e : 51 =4 (L@ 6)

SpsseniL Caneneuullen auifés epeold snewts 9x° —24 y + 30xz - 40yz +252°  16y°

x¥-16 x-4

x+4  x+4

el L gSlett eowwsHedlmng 25 0&.5 Qgnenevaiefled 2 eer P stesin yereulled b eul L 5EHnH@
susnTwliLL L Qg Caniqeir Hemo 24 Clg.15 eTedlled euL L SSlew T 6TevTowT?

5
(3.4) stev1m Leirefuiledt euLfls QlaedenId — — g Fmweuns 2 oL wigionest CrisGCanL .68 FeUn_enL_&
SN6TVTS.
LR2y=—p+3)x+12,12x 7y 6 dw CriGaraer aaimnsblansm Cles@sg eeed p—ullei
SIS SHT6ETTTS.
1+sin®
1-sin®

= sech + tan® oODNEHenwenw HlemhLlsseayLd.
@ Ganen eulg 6 euen & mewigegie (Balloon) ammy 2 bariLidib Cung) siges orw 12 Cl&.uS eSlmhg
6 Q&.15 g5 2 wEHSDg. B ypLuriyssier s srews.

&7 FmbLiler QenL_saewiLé& Fmuyurb 5 0F.15 gy @w. s B yrmser 4 G&.5 wHmib 1 C&.5
6168160 R6HL_SEHETTL_SS\6TT CUEMOTITLIENLIS SHT6TTTS.

(1 FngTyewT 2y ewnqe0 (Non-leap year) 53 safisflpeniast SHenL_LiLgnaner Blangsea] wng?

o graler L allevssd 3.6 u@b. ST eublaun LsTaflenwwn 3 o460 auGdHEw Cung
Slew L@ 4w sreiler SL_allevssd wHnib allevss euTsEss Frneflenws snemrs.



&Pluy: eemaiCueap 10 afllamssepdE allmweallss allerr srewr 42-8@ sLLmuwrs

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40

41.

42.

allen_wefl&sa)b. 10x5=50

A={xeN|1<x<4} B={x e W|0=x=<2} wpmib C={x € N |x <3} 616515
Ax (BN C)=(AxB)N (A x C) sresiuesreumhennd shlLiniyss.

x> +2x+1; -7<x<-5

f e16v1m &FnijLINeuIg) [—7. 6) 168 euemTWMISSLILILL M6 f(x) = { X +3; -55x=22 eeafed
x—1 2<x<6
ol Af(=3)+21(4)

Ulesreugmeuesteunenms snewvrs. (1) 2f(—4) + 3f(2)  (1i) f(-7) - f(-3) (i) = —
Suai - f

&6 LmHSHES s_Teuflensulen 5 2 miLLseier GlLmSsHLEET 32 Caib senL& 2 2 miliLsefes
Qu@mssnHLeves 108 s16dled ybs CLMHEHE:S CSTLlesT 5 2 mLILsemeTs STewTs

16 Q&.8, 17 Gl& 15, 18 Ql&.f , ......... /30 Q&5 yHweunenm (WermGw LGS jeTaysemmasd Claresmr_
15 sew1 #8ITEIS6MNETT H6V16TENELS SHTEVTS.

1 -1
2 1
1 3

A=(1 -1 2),B= oty C = [12 _ﬂ s16fled (AB)C = A(BC) e1616 &1L Hiss.

2x+1 B_2x—1 L1 2B
2x—1 PO B= 50 A-B A-—

A=

ABC -uiled C gyeng) QlemiGanemiid gy @w. ussmiser CA wnmwb CB -uller mO\LiLeTefasr (wennGuw
P wopmb Q stefled, 4(AQ” + BP?) = SAB? s1e01 fimyeys

100 wresteuiast Clanewi @ @Waled, eufsen sihs5s WwSLblLemTaeiar srmafl wHMIL S
ellevsaoneng) (wenmGw 60 wHmb 15 gy@w etesy 45 wHmIb 72 e16im B WSHLICLIeRTSEHSHEL!
udleons (enmGw 40 wHMID 27 eTaitm) Heun s ey ClFwiwiuCL g Cshw aubsgl. JeunHeons &fl
Qewsred HevLsaLlumnb LHu sreler srmefluyw HLalsesspd sresmis.

&0y QarsaluL L CritsGaL 1 651 FLOETUNL 160618 SHT6wTs.
(1. —4) erev1D LeiteN euLflF GlFedeug, GleuL S giewTHaale alldlgw 2:5

508 2 wipsiten e Camyrsdlen 2 &8ulled mHEI @@ WrsSHler 2 &8 WHMIL I SweunHilet
@nsssCanemmas wenGu 30 WwHnIb 45° sreled @ WISHeT 2 WTSmss srews. (V3 =1.732)
& 2_emefL_Hm emr&Caner 6L g6 2 L L wHmb Gleualliiym el LmigsT (pennCGw 6 Gl&.15 whHmybd
10 Q&5 @Ww. g 2 Basuul (B 14 Qa5 allL(peTer @ SHewtio 2 (HepemUTSSLILL L TV,
2|66 (HEMETUIIEHT 2 WITLD SHTEwTs.

(1 W(HHS GLIL, 617 2_Henemullest @mHUD L SenrsGs oo Benewnhg aulgelled 2 6Teng). @Liulles
Qwrgs Hemd 12 1.5 efl_Lwbd 3 .5 e1edled dlev SiewL_GasLILGILD WHBSET SH6vT JieTEDEUS HTETTTS.

@ eouulled 6 LFenF BIDLILIGHESISEHLD, Hev H(HLIL LHMID SeuliLy BIMLILIGSISEHLD 2_6TeTes  SHLIL
uhgs6Mes sTesveniigens Seuli LbgiseneTl CLTed B ESNEGW. LFHE Lihg SHeoL_LILghHanest
Blapsseay SHeuliu ukg SenL_LiLgnane Blatssaeuls GuTed ppesim) LEISTEGWw eieurblperied,
(1) smuy ungiseier srewTenilsens (ii) ClrSs LbgiseTer seuTanisams gy SuanNenns SHTews.

@ SN TLILLEUTESIS) HewsTent i L L S55H@E Ged 20 0&.15 2 wirsHed 2_sieng). sewrigeut BEHLILEGS
sewiewty WL 5SNEG SCp 2 eengl. smm efabCung sewi(H SeTeriLL (H STOEHTLILLUTEIS)
gewigesr oy ribu Bleneoulledibgl 40 Clg.5 gnrsdled semientenrs QsrOElemg. oy rbuBleneouiled
SewTewt i L L SHMNE &G 2_6Tem 56w 631 H6MLD SHT6wTs.



wrf ellsmssreiessT

GOl Smersg allerrssepsign alenweaflssa). 2x8=16
43. =) QqLiussnd BC=5.6 0lg.f £ A=40° wpmib £ A ullest @mewbleu iquineug) 3jiqLliusasn BC g
BD =4 Glg.1§ 16w D ullev mSlé@wmm jemwubd (wé&Ganewtd AABC auenys
(Siede051)
<) Gar@ssluLL (p&Ganewid PQR wile 85 usamissiler alldlsd % 6T6UT DIEMLOW|LOMM)] 62(T
ey Cleunsgs (P&Canemid euenrs. (yemey syesi % >1)

44 o)) @ HEWNSESHML TG SV CUTGHNSWTOTIHEHSHE UTEIGD eeibleun s Glummsiler Lgib

50% senepugenw yNelsdng. GNss lESESL SETEHLIGSHGOIEST eUENTLLLD eUEHIS
Gogiid,

(1) euenruL 55N bbal, @@ eumgsenswnert I3250 g semepUgwr U Quppre GHSS

allemeven s HTevwTs.

(ii) @Mss allmeowneng) 32500 eT6rlled S6TEPHLIGEDWIS HTETTTS.

(Si1600051)
) B(HUGEFSFLETUNLIG.68T & 765668 SHETENLOENIL EUEDTLILLD PLPEVLD S TTUIS.
xX*—8x+16=0
Geusid (H.5/wew) x 2 4 10 12
(g!_r,mb (wesulled) y 60 30 20 12 10

* %



ueteflssevallsgienn, allipLyrd wreLLb.

il allammssrar - 12

eigL: X BHINHD
Crmwd: 3 wevwf] wFLCluewTs6T: 100
Gy i) Smersg ellarmasens@w allowefléssa)w. 14x1=14
ii) Car(ssUu__(herer wrHn efle_sefled Wasaw gHymLw aleLmwus
Coirb05(h5516 G HLear allmLulmeanuw Csirsg sTipgayb.
1. A ={1,2,3,4},B={4,8,9, 10}, eters, smyu : A — B gyemgi = {(1, 4), (2, 8), 3 9), (4, 10)} erews:

10.

QarssLuLLred f ererug)

1) 21" &y 2) ueveunMledHbEI eEvTTmISS 6T FTL

3) swefls gty 4) eenIs0\STeTDeTTETL

n(A) = m wpmw n(B) = n aars. A-wleflBphg B-&© aumrumssuULL. Qepm sevndledeors
2_payseflar Qwrss cerrenilsans.

) m® 2) o™ 3) pmo 4) 2]
3111 ... e Opmjarflemsuier SiGS5s 2-ni
uuau

2 1 1 1
D3 2) 24 3) 37 4) a1

oM s Osr_jauflmsular wsed 2my 1 vomw Curg elsHursw 4 eefled, Ueraimw
sTewaefled 615 DBE55 Fal_ (S Osr_jaflnsuiled enoun?

1) 7881 2) 10091 3) 4551 4) 13531
A srarp gewfluller auflens 2 x 3, B ererp jewfluflesr euflens 3 x 4 etesfled, AB ereirp yewaflufled
Blreosefler eTewrenilsons
1) 2 2) 3 3) 5 4) 4
1 3 5 7
Qar@ésuurL gefl A= |2 4 6 8 | sarer Bleor Blyed wrHm Sewlluiler auflens
uii
1)2x3 2)3 x4 3) 4x3 4) 3x2
aL L ggler Qeuafliypl yereflullefimig aiL_$8lH@ assmer QarHiCar(hssr auemnrweoms?
1) wezzellwib 2) em) 3) @rewi® 4) pueydD semtefisams
e CrisGsmuear snialar smeadiflurars 3 &@ swb aafled Jbs CrT&CHM IGaT srias
Camewrid G
1) 60° 2) 30° 3) 45 4) 90°

em Caryrsdler 2 wrsdlneEw, Siger Bpelar Barsglnsw 2 srer alldlgw 3 : 1, srafled @ flusmers
STEIDd HNECHTERT JjeTAITETS)

1) 90° 2) 60° 3) 45° 4) 30°

o Blarswunrerg g Ijguiled swgern urllled 2 eater @@ yereflulled 30° Caremgang
gHUBSHFDS. Ws5ed Letafls@ b 15 2 wrsdled 2 erer rewrreug LeateflulleSmng) e sibLg et
345 Dn&ssCarewTid 60°. srasfled, WarawbLS ST 2 wiroreTs).

b b
D3 )5 3 V3 92



11.

12.

13.

14.

wrf ellsmssreiessT

annaGarentd wHmiw BnésssCararisamer garal(Bib small

1) HCwm_emeoL” 2) semeoL_mevGaLi 3) QufleCamLi 4) QzreneoCrrss
Spsaraid 1S B 2 (Haumsmer DenenTzsSTed b DDGUBSleT algaib SlenLs@Lw.

1) abilet @enL_ssemTLb oML enrsGanend2) 2 mener wHmIDL Camemd

3) Ganembd wHMILD FnldL 4) 21e07&GaHeLd LMHMILD FaldLI

36n Q&5 * sargierey Qaremi @ CararsSer oD

1) 3 Q&8 2) 2 Q&8 3) 5Q&.8 4) 10 Qg.18

P flauy, Q Beud wpmis R uéens Blns sayprEsnser 2 arer @@ GHemeaulled QmBa @ HAailiy
FalpTEISHE) T(HLLSDSTET BISHSSUTETS.
1) P+R 2) P+Q P 0

_ — 3) — 4
P+Q+R P+Q+R ) P+Q+R ) P+Q+R

&Pluy: eremaiCuap 10 afllamssepd@ allmweallés. allarr srewr 28-6@ sL_Lmuwrs

15.

16

17.
18.

19.

20

21.

22.

23.

24

25.

26.
217.

28.

aflemLweflssayb. 10x2=20
A={5,6},B={4,5,6}.C={5,6,7} eietleo, A x A= (B x B) N (C x C) e16018 &n1_({H\s.
f={(-1.3).(0,-1), (2. -9)} syevigy Z—e\mpig Z—&anewn e Coflw & e1edled, f{x)-206 snewis.
1+2+3+ ... +k =325 etefled, 12+ 23+ 33+ . . .+ K et iy snewts.

P X Pt X X pt = 113400 @mi@, Py P, , Ps P, steiiues emieuflensulled ieniohg LST sTewTse
WOMID X1, Xy , X3, Xy 6TETLEN (P(P&SS6T 6168760 Py, Py, Py, Py wmmud x1. xp, X3, X4  pFHweumnesr
WSILIL|HENENS SHT6wTTa

QeSS L FOESTLINL 1q 65T ppevmmigeT Gloul Hmib &b eTedlled, k-ulles wéllienLs snewis.
(5k—6)x*+2kx+1=0

5 2 2
A=|-V17 07 3| erediled, (AN = A sissugemens sfunyés
8 3 1

AABC — Wlesr ussmaser AB wpmib AC —ev enwnhg LerelssT (wennmGuw D whmid E Guepid
AB=5.60&.5,AD=1406& 15 AC=7.20&.5 wnmb AE = 1.8 G&..5 eretfled DE || BC etem18
s1_(hs.

(3. 4) sttt Lienefl EUNIFCIFOUGID I FEHSHEHHE Demewneng)wnes CrTCaT(HSaMei
FLOTUT(HHEN6NS ST,

(5. -3) woHmud (7, —4) er681 BB 6TeMa6T uLflEF ClFedenid CrisCHTL 1681 FWETLIN(D HTewTs.
secO sin@
sin® cosO

= cot 0 eTe¥TLIEnS BlemHLIGsa|D.

Brewi(® Crieul L 2 (Hemensefer o rb wHMIL 2 wiEseler elldsn WennGw 3 : 2 wHmibd 5 : 3
6168760 eumMIeTT euemeTLITLIL|S6MesT IHSLD SHreswTs.

@ Sewio emrsCaneng et g iLrliL 1386 &.5 e1eled g6 QoSS LnmLILITLIENLS ST6ss.
QarssLILL L STl LsTeisenss elFa whnib e5&as Clap Suaimenns siewrs:

25, 67,48, 53, 18, 39, 44.

651G Bmevs5E ADSSW 52 U (Daenes ClanenT &L 1q60Hhg Fweumiliy (Wennulled e L6
s(&aLILGSDE. g Heuliy Prrareuns 60608 HHLIL Prrewiwns QmHLILSHSTET HEpSsHmes

SHNETVTS.



&Pluy: eemaiCueap 10 afllamssepdE allmweallss allerr srewr 42-8@ sLLmuwrs

29.

30.

31

32.

33.

34.

35.

36.

37.

38.

39

40.

41.

allen_wefl&sa)b. 10x5=50

A={6,9.15,12,21} B= 1,2,4,5, 6} etssiues @\(p sewimiseT e16v1a. f: A — B stegd emyy f{x) = xT—3
16018 Clan(hssLuL_(Deeng). Q&anililenes (1) ywLSGD (i) L eusnewr (iii) euflenss Camgsaes
sewotld (1v) euemruL_Lb FlweubHmred Gniés.

S1. S5, S; erevtIen (WeMBW Ful (NG CHm_Teuflewaullei n, 2n, 3n 2 MILILS6ET Fa(HSE0 G
S3=3(S,— S;) et6w1 Hmiey 5.

& QumEES Csn_ieuflauller 4-eug 2 miiu 8 WO 7-6ug 2 ML S safled, JENT Y-
QuBSHEGS CaT_Teuflenseanus sneswis. 9 e

f(x) =x—4, g(x) =2, h(x) = 3x - 5 61601 epevTy FMiTBENEE CoiLiLmeng) sTLQLINPEIL oL 6ils emws
WSS Qeuiuyb ereut HlemLilss.

1 3 1 -1 2 13 2 . o
A=ls _1).B=|3 5 ,].C={_4 | 3) e1evled A(B +C) =AB +AC — & sflunjéseayb.

QestienenuiledmHiba e(HSS1EFLSSNE) 240 S5 HTTS556 HL_58 6(1H LwewasT OSTL_iTeuesTiq.dE
ewm alewrey OQsr_jauemigenweall 1 wenfl Crrw sm@Bseoonss Csemeuliu@EHDg. LwesissT
Qgn_ireuewngullesr Ceusid, ellewrey Ggm_ifeuswiguilesr Couassemgail 20 £.u5/wesil @Genmey eTetiled,
B\ Qzn_ieuswgseies #rneh Cousmsamens senwrad(HD\s. A

uL58le0, ClemiGanemnt (w&Garewio ABC ullev Canewrid B gy eng)
QemiGanewid wnHmyb D, E eteorm Leefast ussid BC g epaiim) swLi@dlaenns
IN&Sng s16ed, BAE = 3AC? + SAD? e1601 Hlimieys

B D E C
&7 Sempullest semwnesg wirdflwnesr (paCarewt eugeus Hoor bsemens Garewi( (tiles)
SiemwaLILOEDG. Sled @ L igeT (peneuaet (3,-2), (—1,—1) wmHmb (1, 2) Sy@b. STS5MMS505
(Weowwns emnss 110 ehser CaameauliLBSlamg) sTefler ST LITLIENLIS SHT6wwTs.
Tx — 3y = —12 wpmybd 2y = x + 3 g dw CriCanser shdHé@w Letslenwu|b, 3x +y + 2 = 0 wpHmyjb
x—2y—4=0 g du CriCanaer shgle@w Lstalenwiulb Benewrs@d CrirGan iq.er Fweaun_enL_&
ST6T1S.
Q@ svmsemy alasssHer 2 sSlulledmbg ST LssmsaT 2 6ten Qrewid sLLedSsT 30°
wHnb 60° @nasstaremadled unfssiLOdamer. soomasamy alsasdler 2 wrb h 5. @@
SLILIEVS6T HMILD Hevmseny allosasHler 9gliL@S pdueme Cr CrTCaT1q60 emwdleimen
6168160, QrewT(H HLILIVSEHSHE QevL_LILIL L Cgnenevey % 5 e1ew1 Blem LI,
Sz nenens0lanent(H) 715 o r(pb 2415 2_WIF(LPLHL_ DLW FnlbL|6llq 61 Fn L TTD2_(HeunsaLiLH\EDS.
OlFeleus aulgeu HGgneflesr i@meuld 415 616tl6d iF6UT HENTLD HrewyTs.
& 2 mHemerullest 158 @ emr&ECanemo Qenewtmgeunm 2 eem e GluMbenwulles GlTgs 2wy
25 Q.15 g@EWw. FesT Lo 12 Glg.15 ereriled, Clumbenoullest Clongs LDLILITLINLIS STeuTs.
@ enLulled 5 Seuli Bl LmgISEHLD, 6 CleusTene KDL LIhEISHEHLD, 7 LFens BImLILIG, @B 8 S(mhLiL
BnLLhgisEnHD 2 ereres. FweunuiliL (wenpulled enLulledmBgl 6 Uk TOssLILOEDG. HSLI
ungl (1) Ceusitemen (ii) HHLIL 160608 Sleuliy (iii) CleusTememuns Beveomoed (V) CleusTenemunseayb,
SHLILNSLD Be0evnned BHLILSNHSTES HlHLHSSH6SENES HT6TTTs.



Lomifl eflemssnaiss
42. @m GHUILL eumrgdled 48 wrewreuiaser Ogremevsst &l unjuusnsnss Ggeoveall L Crrw
CaLMwuliul L g Sihss Saeuedle g liLenLulle, Sparanbd sreiler S L elevssid snesmis.

X 6 7 8 9 10 11 12
f 3 6 9 13 8 5 4
uged — IV
GPlly: Smearsg allamésens@w el weflssa)w. 2x8=16

43. =) P @ ewwwionss Clanewr 3.4 Cl&.u5 oy r(psitem eh euL_L_S8H@ R sterim Yeafuiled QlaniCan®
U,
(S1e06051)
<) iglingsnd BC = 8 Qe.S £ A = 60° wpmid £ A ullest @@waw Gleuiquinesgy BC g D e16im
yeefulled BD = 6 Gl&.15 ereiimeunm en5s8ng) s16ded (p&Ganentido AABC euenis.

44. o)y =2 — 3x — 5 WlevT euEDTUIL LD euemTIESI, BT LWETLOSS 2x° — 4x — 6 = 0 e1e8m
FOSTLIMNL_6DL_& ST&HHaLD.

(Siede051)
<) Cumnbg Hleneowd wHCs 2 eter Q@ s&aT eunsed BNISHIOL_SHed CUDLILPL &L L 6w1s
Czrens LeTeumHLoMm)
Cryd (wewfluiled) (x) 4 8 12 24
5L L_ewid Qanens T (3) 60 120 180 360

Qupiu@b s Lews Cgrenswneg eunsesid BNssuLGL CrrsdHne@ Cur wrmyum iged

2 6ONGN V060G 61N WIMILITL Ig60 2 6TengT 6168 pIMuIs. CETHSSILLL Freysener

auenTUL Sdlev GDlSaHeyLb.

Goeiid,

(1) Poussiiu@w Crrw 6 wes safled s RTSOGTENSBENWS SHT65TS.

(i) 150 g s L6ewrs Osremawnss CFnsd Qmhsre, Hnssuul L. Crrsdler ememneaus
SIETVTS.

* %k






13.

14.

wrf ellsmssreiessT

@5 BUHSES Caueme SlenLLILgHaTaT BSYSSaTaTS) g Ceuemnev SlemL_ssmoed G(mHLILISHEST e
2
Blspssa) 3 sreufled, x—ullesr wlLiLrer )

1)1 2) 1.5 3) 2 4) 3
@@ BrERTUSmS epaim (weom seni(h Corgameruiled 3 gmevsar edevg 3 Lsser Ho&s
.'!"]55% 1 3
1
1) - 2) — 3) — 4) =
) % ) 4 ) 2 )

&Pluu: eremaiCuap 10 afllamssepdE allmweallss allerr srewr 28-6@ sL_Lmuwrs

15.
16.

17.
18.

19
20

21.

22.
23.
24.

25

26.

217.

28.

aflemLwefl&sayb. 10x2=20

AxB={(3.2).(3.4). (5.2). (5. 4)} 1660 A wpmud B -g3 snewrs.
f: N — N etesip &nify f{x) = 2x — 1 61607 euenTUMISSLILILL_T6D iG] 6VTM)IE(S) 6R6TTMNEVT FTL| 6060
Gued &riry @evenev 61618 STL_(H&.

1 7
P(A) = 3 P(B) = 10 P(AUB) =1 et1etfled P(A' U B')eu &1Ly snewsis.

655 DM HOS55HSS WHlens (P(PQYLD FTTUST CTESTSHE 6160 HM)|618.
p?—3p + 2. p> — 4 &1 15.Qun.o. HnewTs.
Uesreupd QLHSEHS CFT_Teuflensulled 2_eer 2 miLiL g6l sTemTenisbenamenwis SrewwTs.
4,8, 16, ......., 8192
18 2 milisemens Oanewi of enllag ceaeaums cuflenssar Qmes Qwedbd? oF ewiulles
2 mLiseles eTewtTensiigensa 6 eTeiled, sTelauens euflenaser @ mH&s Fwiedb?
Quefleoney CaHHDSMS 6T1(LHS15.
x Qeu_ 5z 4. y Qeu_(hsgienih —6 Caneni CrisCan g6 FaTLT_enL_& S1esis.
SéaewTL Leeaflaemmed emwssu@ib (pesGanemrsslet Ly SrewTs.
(=10, -4), (-8, -1) wHmibd (-3, -5)

sind _ 1-cosA4
1+cosd  sind
gmywrd 19 Q&5 CaTenT FaldL] aUq6us Sal_TISSl60 HIeO6UT 2 6Teneu. HeU(HEHE 22 & olF LS
urliy Caemeu 61aled FnLTSHeT  WISHSSH TGSy,

e160T Ble L&,

& ChT euL_L & anbdillen sengeney 11088 &.601&.15 oy @w. ambiler 2wy 24 &0 erefiled, g6
SLTLD SHNETTTS

sweumiy Gergenemuiley CoinosHssuILOL @M e neg (1) OB Lrewins Gmés
Bawpgaey wig? (i) sngmyenT oy ewt_ns B mes Hlanssea) wng)?

&Pluy: erenauCugd 10 aflarrssens@ allmweflés. allarr srewr 42-8@ sLmuwrs

29.
30.

31.

32.

aflemL_weflssayb. 10x5=50

fx)=x+1eefe0 f(F(f(y+2))) o1 oAU Sr6verss.

A= {@r enL Lan erewisaies sewrd} B = {10 g flL_s @enmeunest 3 631 oL_mi@Gs6fewt sevwrid }
C = {x etet1Lg) 5 2460 uGSUDILD Bwied sTewTTaER6ETT Howwrd 1 < x < 25} 616860

Ax (BN C)=(AxB)N (A x C) srtienss sfLNT&s.

a, b, ¢ e16vTLIEN (1 Fnl_ (DG QFTL_Teuflenaulled jemiowb eTedled 37, 3b 3¢ & CLmBEGS
Qsr_euflenaulled enLou|d 616818 HTL_(D.

UestaubLeneal (PP euissL LeOINILILS Caneneuser seriled a wmHmid b -ulles iy snewis.
ax*+ by’ + 361x% + 220x + 100






auEuy: X

Longi sllemsnsiss
ueteflssevallsgienn, allipLyrd wreLLb.

i allarmssrar - 14

Crmwd: 3 wevwf] HIHBD wFLCluewTs6T: 100
Gy i) Smersg ellarmasens@w allowefléssa)w. 14x1=14
ii) Car(ssUu__(herer wrHn efle_sefled Wasaw gHymLw aleLmwus
Coirb05(h5516 G HLear allmLulmeanuw Csirsg sTipgayb.
1. A={1,2,3,4,5} -emBgl, B eram sawgdlnE 1024 2 peayser 2_arerg) srafled, B o0 2_aer 2 miLisefler

10.

11.

sTewTewsilHens

1) 2 2) 3 3) 4 4) 8

Ulereumeusreunmier 615 &ifluieden?

1) &nify eretiug) @ wwrdlsEnse@ QenL L L Cgr_illenesr @OlLLgnEL.

2) Aww B u gCsemid R Qeummmm sewtmigss steviayd euflens Camqsefe sewrons
@M&asLILDID 6Ths 6h F1yy f: A — B b BXA e1681m snifL_1e Swiest GlLinaaedlest
2_L_S6UTLON@LD.

3) @@ FNTY QRENISHES) eSImNes FifL cTevlled Flewewt HLLISSHH6D 2_6iT6 6165 6(1H CleueGeoumy
2 mitiysepid CT (e 2 (Hellenen wHiLssHeo Clundm Hrg.

4) @ &L “QeTmI&E eeipner smjun?” aaLemns Candlas SenwL L &Car_(H Cangene
vweTLOEDG).

65 wpmyd 117-ullesr 15.0ur.eu eneu 65m — 117 eresrp augafled erpgid Gurg) m-e Wiy

1 2) 3 3) 2 4) 4

Y n=>55, eefled, Zn= ——

1) 3025 2) 166375 3) 1540 4) 55
1 3 5 7 . . . .

2X + [5 7) = (9 5) crerfled, X erevrm gjewflenws srewrs.

0 (3 ) > (3 » (37 oG

X%+ 4x + 4 ererp @mLig LM Ls Careneu X 55CsT(H Qau B ystaflsafler sremrenflama

1) 0 ieve08 1 2) 0 3) 1 4) 2
ALMN -ufled Z L =60°, £ M = 50°, Gugud ALMN ~ APQR erafled, £ R —ufler gy
1) 30° 2) 40° 3) 70° 4) 110°
x =11 eters Qar®s LUl L CriCar ier soarur_rerg
) pFyerel eufle Claedenid 2) (0. 11) e1681m Leie euLfls GlaedeIDd
3) X - oiFadE Benes 4) Y - o588 Qenewr
8y = 4x + 21, eteip CriCamn_iy.ar SuATUTNLIGNES SPESERTLIDMIET 615 2-aRTD?
1) smiey 0.5 wHmud y Cleu_Hsgiem(® 1.6 2) emiey 0.5 wHmibd y Qeu Sz 2.6
3) emiey 5 wHMIL ¥ Qeu_HisgiewT(H 2.6 4) smiey 5 wHnb y Qe Hsgiew®d 1.6

(1 + tan@ + sec 0) (1 + cot® — cosecO) et LI

1) -1 2) 0 3) 1 4) 2

PeoLssami_smng @@ UGILNss Csremi @ sabular 2 wrd whmw b wepGw h; ge@ser
LHMID I') JOGS6T JYGW. P ssemiglear 2 wrd wHmw Aflu Lss HTd WenGw h, eGseT
HMILD I, SjeGSeT wHmib hy :h; =1 : 2 erafled r; : 1y @ oy

1)1:2 2)2:1 3) 1:3 4)3:1



12

13.

14.

I' J|0GSeT ZYTIb 2w P &1o SemrsCanerrisaflar ogLLEGSsar YamemrssLiL@Bb Curg) 2 mamE@w
Slewrvggler LmLLTLiLy
1) 3m? &.9 2) 4m 5. 3) 6’ &.9 4) 8mr’ &.9
e uswrLisnuulled en. 2000 Crr_(haer 10-w, ¢n. S00 Cur_(Hiser 15-15, ¢p. 200 Crr_(HseT 25-1b 2_areme.
em Crri(h svardily wepuled ahssuuBEaimg aeafled, bz CrT® eH. 500 CrrLraGar
Sie0evg) ¢m. 200 CrrLraCar QmUUgHaTaT BSHSHa] cTairer?

4 2 1
1) 3 2) 3 3) m 4) 3
w560 ‘n’ Pued erewrasefler srmafl

1)@ 2) 5 3) ”T“ 4) n

GPliy: erenauCuegd 10 aflarrésens@ allmweflés. allarr srewr 28-8@ sL_Lmuwrs

15.
16.
17.

18.

19.

20.
21.
22.
23.

24

25.

26.
217.

28.

aflmLwefl&saywb. 10x2=20

esreumeussteundlin@ A x B wmmid B x A & snewias. A= {2, -2, 3} womib B ={1, -4}
P+23+33+ . +k° = 44100 erefled 1 +2+3 + ........ + k Wesr iy snews.

32 whmib 60 Fweuniler BLIGL Cung) au@sd d etettas. d = 32x + 60y eTedled x WHMILD Y 6T6TTM
(PDESHENENS SHN6TTTS.

A={1,2,3.4},B=Nwnnwb f: A — B g eng f(x) =1’ a1 eueTWMIGSLILLL 6D f &1 6T 5585m56
SHM6TTS. (Bmg)_ub 6TELIEUEMS FTTL| 6T60T Sn M.

2 5 -
A= (4 3] .B= (: :] 616860, AB ommio BA —mé snewsta. Gued, AB = BA sistiLengé sflunyss

(2x* - 3xy)%, 8x> — 27y, (4x — 6y)’ i1 18.Qun.6u. HewwTs

eunerd CaMHDSHMS 61(1pG)15.

8x — 7y + 6 = 0 e1681m Camm_iq.601 Fmiley HMD Cleu_ HSZINT(H pFweunennsd snewis.

5¢—2y -9 =0 wpmbd ay + 2x — 11 = 0 yHwes pamstaream Cem@sg sefed a & wli
SHIETVTS.

P(A) = 0.37, P(B) = 0.42, P(A N B) = 0.09, srefiled P(A U B) g snemwis.

7 2 menemuilest gLrb WHMD 2 wirkseTeT el 5 : 7 y@w. ST euenerurliy 5500 &.61&.15
6163160, 2_(HEmeTullesT YLD HMID 2 WITLD STEswTs.

4.2 18 el L (ewLw @ ienrsGaer augeus O iquiled 618 emen 6L L Sesventi GlsnenErpid?
@ sreller afFa wHmIb Wlas  dlu wSHiy yHuer (WPeonGuw 36.8 wHmD 13.4 redfled, WleLIGILIMW
SIS SHTEsTTS.

sec®® = tan®@ + 3tan’ sec’d + 1 WPHODIEHEDLENW BlemLNsH6aqLd.

&olly  erenauCuegbd 10 aflarrésens@ allomweflés. allarr srewr 42-8@ sULmuwrs

29.
30.

31.

32.
33.

aflmL_wefl&sayb. 10x5=50

f(x) =x%, g(x) =2x womib h(x) = x +4 ereriled f 0 (goh) = (fog) oh erevTLIENS FlLNT&S.

@ Fal_ (05 Osn_jeuflensuller /, m wHMIL N eug 2 MiLILssT (WeopGw x, ¥ wHMID Z eTefled
Ulesieu(meussreuhenn blemLiles

()x(m-n)+ym-1)+2z(/-m)=0 (i) (x-y)n+(y—-2)/+z(z—x)m=0

5+55+555+. . et Qgn_ieuflemgullesr (pged 1 2 MILILG6N6NT G (DGO STEwTs.

d8+3 a_22a+01 )
3% a 2 a7\ b 4c 5 0 a, b, c, d snewrs.

A={x|3<x<4,xeR},B={x|x<5x € N} mpmbd c = {-5,-3,-1, 0, 1, 3} eterfled
Ax(B—-C)= (A xB)—(AxC) stert HlemL&a.



34

35.

36.

37.

38.

39.

40

41.

42.

wrf ellsmssreiessT

2x? — Tx + 5 = 0 6T6vTm FLOGITLINL 1q.65T Qg)sormam a mg)gju) B stexlen, LevToumeuesTeummles SLiLsenens

snewis. (GHILY : Srey Coemeuuiledensv) é+ 5B e

5 Q.15 gy rpeier euLL_§5led PQ yeuig) 8 Clg.15 em(peier mrewt gy @w. P wmHmibd Q-eflesr euflGu
QFeveId CaTCatast T steoin Lereulled sndladlng ereded, TP etesim ClsnOCsm iqeur Bemd
SNEVTT5.

A (-3.9), B (a, b) wpmud C (4. -5) etesiuiest ep(p CanL_emiomhg Leiefilser wmmyw a + b = 1 erefiled

a wHmb b -ullesr wHLienLIS Sesis.

Q@ eu@ULllgdeTen wremsteufaet, @GNULL urn_s8ed CQubn wHICLeTTHaT &psHsawT_eummn
Qan(&sLLL_(Deereut.

SO LiessTSH6T 0-10 10-20 | 20-30 30-40 | 40-50 | 50-60| 60-70

LOM6TUTELTSH6TI66T 6T6TTTETN 608 8 12 17 14 9 7 4

B5516alhE@S H_LellevssLd S1esis.

13 § 2 wrypeien e wrsHer o Fuledmnhg LHODIM wrsHler 2 &5 wLHMID guileT gHMS
Canewrid wHmd @néssCanemid (penmGuw 45° wHmib 30° sediled, QrewTL_teug) WrSSHe 2 WrSenss
snewis. (3 =1.732)

120 Q&.5 Berupd 84 Qe el L (b O&TewT_ @@ Fremevenw FWLILMOSSHID 2 (HEETEDWSH
Qanewt(n (Road Roller) e eflewemun_(HgSHed swliLGssrLEemmg. elenerun_(H& S_eneo
swiu®ss Qeiamenst 500 (& aHsT s CouemtOb ellewemur_ (Hg Sewed sLLILOSS
Q@b & IS L (Hh&@ 74 ewugn eigb SHenevd swliL(DSS @ W ClFeremeus: SrewTs.

ellL1b 14 Q&.15, 2wy 8 Cl&.15 2 ewLw g Hewiw Crreul L& snidy, F 2 emafLnn Caremons
2 murmpluBdng. Camergdle Cleusial Lo 10 Ol 1§ sefled, 2_6eilL_Semad snesis.
SbLsGSN apnHmib ellenemum_igeo 1, 2, 3, ..., . 12 e1681p e16WTTHET FoeumuILiL (Wenmulled HewL_&s
eumilietengl.  wUsGdwneng (i) 7 (i) usn etewr (iii) L@ etewT yHweudled BHmLSHSTes
BHLDS56HE061TE SHewsTL_ DS

(3. 4). (-1, 2) et yeeMaener Benewia@n Crr&GCan _(NSSIETIGET HLOWISHESSISCHML 1 681
(perpendicular bisector) FeTLINL_6HL_& SHT6wwTaH

GoluL: Smersg allarrssepigw aleweaflssab. 2x8=16

43.

44,

3) 5 QS yrepeten eul L gSlenr enwwsHelmng 10 G5 Ggrenevaieerer Lietafulledmnba

L L 55n@&s 0athCanast cusnrweyw. Guoeb CETHICHI g6 Bamisamens seniss (s
(Si1606051)

<) PQ=6.50& 15 LR =55 wpmbd 2 &8 R —ulledmnhg ecusnqwiiul L sH\&Cam_iqeir Ko
RG =60 .15 eteor gemwwiomm APQR euenys.

Sy = — 5x — 6 ulledt euemwpLILLD UMTHSI, SiFenesTLl LTSS ¥-—5%-14 =0 6T63TM)
FOSTUML ML & THHLD.

(Sieve081)

) R Himeueoneng) GsT_sa5560 40 CeusmeownsaepLeir 150 mreraeied e Gousneveni
Wi&s Qam_mSug InE, Ceusmevenw elenreuns (PiusH_ Neeumwnm Coieneowneraener
SIS NSS!

Geusmevwinensefest sTesvTensTaens (x) 40 50 60 75

es6est sTewTenlaens (y) 150 120 100 80

(1) CuBev QETESsLILL(D6TET ST6ysEHHE eUENTLLLD UDIHS LOIMILIMLIGET  6UENSEHI

SIEOLWIMENLD SHTETTTS.

(i) euemruL_SHed kg, Hineusioneng) 120 Cousneowneaener Galenevd @ 2ioigs elhLbLilesmed,
Gouenev (LpigiLl 6T556M68T HIETEH6T Y GLD 6T6V18 HTETTTS.
(iii) Geuemeowinesigy 30 mreseed (Wigw GCouewT(HID sT6xled, 155668 Couemevwineiaer Caemneu?
* %k



ueteflssevallsgienn, allipLyrd wreLLb.

i allammssaar - 15

eigL: X BN D
Crmwd: 3 wevwf] = wFLCluewTs6T: 100
Gy i) Smersg ellarmasens@w allowefléssa)w. 14x1=14

ii) Car(ssUu__(herer wrHn efle_sefled Wasaw gHymLw aleLmwus
Coirb05(h5516 G HLear allmLulmeanuw Csirsg sTipgayb.

1. g={1,1),(2,3),(3,5),(4,7)} etevrp sriLTETS (X) = 0x + B sTewrd Qar(HSSILLLTEO o, f —6vr FiLresrs)
1) (1.2) 2) (-1,2) 3) 2.-1) 4) (-1.-2)
2. UJetamd sanmisamer Saear(pL e Ligs5s.
1) e wmiedlF nyiiles cuenTLIL LOTESIG) X FaHEHE Benewins ClFeoad 6 CrisGanL iqmeus
GHILILGTEL
2) eniysefier Gailiy erliGunpgib Cairliy eldé@ 2L UL L gn@Lw
3) @wm @muilorens sasdlen (Psed LHMID HIETHND STEVLIEGS uled WL HICWL @, WL HF snilles
auemTLIL LD @(HHELD.
4) e i “Fwefd ey’ eedled wHILSESSED 2_6item 2 mLILS6Te sTemTERNSemsW D, aTFFHSH 60
2_6iTem 2 MILILS6M6NT sTemTeniidenaiybd F10ws B)(HSHEGLD.

Suelurpg Vsramaaraupmier erg) &fl srarueang Sroreflss:

1) i, ii. iii U @b 2) i, ii, iv 1L @b 3) ii Qi iVl @B 4) Siemenssib
3. 2+4+6+....... + 2k = 90 eresfled k —evr woglliy
1) 8 2) 9 3) 10 4) 11
4. 1-x+x2-x+xf= (x#1)
5 5
1) = 2) X+1 3) ¥ -1 4) @eaupiled 51 Ned6me0
x+1 x+1
5. 4x* 24 +76x7 + ax + b @ @ aurssib erefled a wHmD b -uller wiy
1) —120, 100 2) 100, 120 3) 10,12 4) 12,10

6. x*—a’wpmud (x —2)> Per 5.8
1) *-2a’) (x+a) 2) (x*—2a’) (x—a)?
3) (x—a)’(x*+ ax +a?) 4) (x+a)’(x*+ax+a?)
7. SpssnewmtueTaunmieT 7 Fiflueoed
1) @m eugOeunss (péCanemmissies urliyseier eflldlaw 64 : 81 eefled eumbles LssmEseMeT
Sdsid 8 1 9 SyEb.
2) @m W&Garewisdled Fallueniaer shfe@w Uerewneng, eeableunm SAelwenemybd 616HS
alllgs 60 L@ b e1eed, FallueiiaeT nhSlé@Lw LsTelwneng) b (pasCanensSHei ClFm Can®
EMLOWILD 6T68T SEMLPSSLILI(HILD.
3) @ eulLmseT QaempOwram o L upwis s (H&blansTenn cefled oy rEiseen
ellsHwngioneng) eowwEISHEHSHE Qe UL L FTrsHlenens @Hla@Lb.
4) e CernGanent (W&Gatewadler siemsdle g auenmulILOLD FFHTSSHeT LTLILTEZ enesu
Bmussmiseie g euenTuLILBILD sgTmIseieT LTLiLeTe &6 gn(HSe)sE) FLLb.
8. A(6,1),B(8,2),C (9, 4 wimw D (P, 3) eaiuer en Daewsrsdlar aflms divwrs aOSgis
QareteriILL L (penerrseT eresfled P —eor gy,
1) -7 2) 7 3) 6 4) -6
9. (12, 3), (4, a) eresrp Yereflsener Penewré@d CarLiqar smiiay % eresfled a —uflewt Iy
D1 2) 2 3) 4 4) -5









